11. PROFIT AND LOSS

IMPORTANT FACTS ]

Coet Price : The price al which an article is purchased, is called its cost price,
abbreviated as C.F

Selling Price : The price at which an article is sold, i= called ita selling price,
abbrevialed as 5. F

Profit or Gain : If S.P is greater than C.P, the seller is said Lo have a profit
or gain.

Less : If 8P ig less than (LF, the =cller is said to have incurred o Joss.

FORMULAE

1. Gain = (5P) = {CP) 2. Loss = [CLR) = (5P}
3. Loess or gain is always reckoned on CF
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10. If an article is sold at a gain of =ax 35%, then 8P = 135% of CB

11. ¥ an article is sold at & loss of =ay, 35%, then 5P = 65% of P,

12, When a person sells two similar items, one at a gain of zay &%, and the olher
at o lose of &%, then the seller always incurs a loss iu'-':h By ¢
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13. If a trader professes to sell his goods at cost price, bot uses false weights, then

—
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1 [ Error
Gain% = A | T
| (True Value) - (Error) 4

SOLVED EXAMPLES

Ex. 1. A man buys an article for Ra. 27 50 and sells it for Rs. 28.60. Find his gain
Purtﬂﬂi‘.
Sol. COF = Re 2750, 8P = Re. 28.60
So, Gain = Es. (2860 = 275U} = Hz. 1.10.
I 110 . oo *% = 4%
27.50

ol

Gain% =

251
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Ex 2. Ifa radio is purchased for Ra. 490 and sald for Rs. 455.50, fimd the loss percent.
Sol. CPF = Ra 490, 5P = Re. 466.50.
Loss = Hs, (490 — 465600 = Ra. 24.50.

(uze
o0

Loss% = i 1m}‘l = 5%.

Ez. 3. Find 8.F, when
il C.F. = Rs. 5628, Gain = 20'% {ify P = Ra. 80.40, Loss = 5%

{120

Bal. (i) S P = 130% of Hs. 5625 = Hs. m.a::-ﬁEﬂ Rs. &7.50

L

(i) S.P. = 85% of Re. 8040 - Rs [l%i} :ﬂrmn] - R 68.9¢.

L

Ex. 4. Find C.F, when

(i 5.P = Rs 40.80, Gnin = 16% {if) 8.P = Re. 51.70, Loss = 12%
3
Bal. () C.P.=Rs. [i%xmm - Rs. 35.
(i C.P. = EEIEJ 70| = Ra. 68.75.

Ex. 5. A person incurs 5% loss i::v selling a waich for Ha. 1140. At what price ghould
the watch be sold to ecrn 5% profit ? (R.E.B. 2002}

Bol., Let the new S be Ra x Then,
(100 — loss®) : (1st 8P) = (100 + gain%) : (2nd EF)
(100 _g] G [;ﬂ_ﬂ_+_5‘| = [msxmn‘! = 1860,
i, 1140 x 4
New 3P - Ra. 1280

fhe 6. A book was sold for Rs. 27.50 with a profit of 10%. If it were sold for Rs. 25.75,
then what would have been the percentage of profit or loss T
(Hotel Management, 2003}

Sol. 5P = Ra. 27.50, Profit = 10%.

Bo, CF = R.fh(:l;ﬁ HET&D' = Hz, 23

When SP = Rs. 25.75, pmlit = Rs. (2575 — 25} = Re. 0.75.

0.76

Profit®% = | —— = 100 "’i— 3%
, 20

Ex. 7. If the cost price (s H!: of the selling price, then what is the profit percent?
Bal. Let SP = Rs. 100. Then, C.P. = Rs. 96; Profit = Hs. 4.

ProfitS = [i W 100 % = o m 41T
a8 I L]

Ex. 8. The C.P of 21 articles is equal to 5P of 18 articles. Find the gain or [oss
percent.
Bal. Let OF of each article be Re 1
Then, C.P. of 18 articles = R 18, &P af 18 articles = Hs, 21.

3 ']
in® = | —= 108 |F = 16="%
Geain [H“ ) 3
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Ex. 8. By selling 53 metres of cloth, one geins the selling price of 11 metres. Find
the gain percent. (Bection Oificers’, 2001)
Bel. (SF of 33 m) — (C.F of 33 m) = Gum = 3 F of 11 m.
EPE of 22 m = C.B of 34 m.
Let O of each metre be Re. 1. Then, C.F. of 22 m = Rs, 22, 8P of 22 m ~ R 33.
11
Gain® = [E# lﬂﬂ]q- = B0E.,

Ex. 10. A vendor bought ban+nas at & for Rs. 10 and seld them at 4 for Rs. 6. Find
his gain or less percent.
Sol. Suppose, number of bananas bought « L.C.M, of 6 and 4 = 12
o i 1Y
CP.= Rs [ 25 12) - Re 20; .P. = Re. [ $x13) = Rs. 18.
|, B .II 14 A

Loss% = l 2 :::]III]‘E = 10%.
20

Ex. 11. A man bought toffees at 3 for & rupee. How many for a rupee must he sell
to gain 50% 7

Sol. CP of 3 tofless = Re. 1; SP. of § toffecs = 160% of Re, 1 = %

For Ra. g. boffees sold = 3. For Re 1.l-nﬂ'l:¢um1d=i:3:%]=2_
Ex. 12. A grocer purchaged 80 kg of sugar at Rs. 13.50 per kg and mixed il with
120 kg sugar at Rs. 18 per kg. At what rate should he sell the mixture to gain 16% ?

Bal. O of 200 kg of mizture = Rs (80 = 13.50 + 120 = 16) = Ha. 300,

11
SF = 116% of Rs. 3000 = Has %xaﬂm] = Ra, 3480,

f k!
S| per ke = Ra. 1740 par ks
Ex. 13. Pure ghee cosis Bs. 100 per kg. After adulterating it with vegetablo ail

costing Rs. 50 per kg, a shopkeeper sells the mixture at the rate of Rs. 86 per kg, thereby
making & profit ef 20%. [n what ratio does he mix the two 7

!
Sol. Mean cost price = Rs, [1% = 96 | = Hs. B0 per ke.

Rate of 5F of the mixiure = Bs,

By the rule of alligation :
C.P. of 1 kg ghes C.P of 1 kg il

100 50
N‘!m P“E//

B0

M/,/”' \\_m

Required ratio = 30 : 20 =3 : &
Ex. 14. A dishonest dealer professes to sell his goods at cost price but uses a woight
of 960 gms for a kg, weighi. Find his gain percent.

[ Error [ 40 ] 1

|
S 100|% = | —— x 100 [% = 4=%.
| TTrue Value) — (Error) ] \ 960 ;

Sol. Gain%
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Ex. 15. if the manufacturer gains 10%, the wholesale desler 15% and the retailer
25%, then find the cost of production of & table, the retail price of which iz Rg. 12657

Sol. Let the enst of produstion of the table be Rs, x
Then, 125% of 115% of 110°% of x = 1265

i i
-3 EEE}{EEI - IEEE —3 Ex = lms - ¥ = {M — Rﬁ .E‘:Iu
100 100 100 160 ' 253

Ex. 16. Monike prrehased & pressure cooker at I—sﬂ th of ita.salling prics and sold
it at 8% more thao its 8P Find her Eain percent.

Sol. Lot the SP be Rs. x Thea, C.P. = Ra ?‘_:, Receipt = 108% of Re. x = Rs, ==

L
: Eir G 108 — 8= 18x
Gain = Rp. | —=-— | = Ba. | —m—z | = By, X
oo Mo [25 o) [ 00/ 100
18 10 |
Cafn® = | —— xw —— w1 % = 3
in [IMH ® Eu:rJ L

Ex. 17. An article is sold at a cortain price. By selling it at % of that price one
loses 10%. Find the gain percent at original price.

Bol. Let the original EP be Rs. * Then, New ap_fmg;unum
L

EI,ﬂP_-R:_[ﬂgE;\—&I
TR ) A T
Hx ; [ 20z Tz
Now, C.P. = fs, —, 5.F. = Rs G =Rg |x==— = Rs ;
oW Rs = r. (Gain REL-I 27 | T
b

T
Gain® = [; x 2:# ’ 1@:)& = 35%.

Ex. 18. A tradesman sold an artiele at a logs of 20%. [f the solling price had been
bereased by Rs. 100, there would have been a gain of 5%. What was the cost price of
he mrticle 7 (8.8.C. 2004)

Sol. Let C.P be Hs, x Then, (105% of ) - (80% of ©) = 100 or 25% of x = 100

: = 100 or x = 400
Sp, C.P* = R= 400,

Ex. 19. A man sells an article at a profit of 25%. If he had bought it at 20% legg
\od gold it for Rs. 10.50 lees, he would have gained 30%. Find the cost price of the
iwrtzele.

Sol. Let the CP be Rs. 2

125 S &0 4
Ist SP. = 125% of 2= —x = 2. 95 - B0 of £ = ——ym
T ot d 8P L

dx (130 4z 28x
2nd BP. = 130% of = & | e % e | = 222
L4 8. \106 5,4 28

5_!_?5-1 = 1050 & _21-'-" il !u_ﬁu -y = rMJ = 50
4 25 104 o2

Hence, CF. = Re 50
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E:.i'ﬁ.ﬁlpﬁuﬂlmmwnughlhmhnudu.:imanthaﬂuhhrﬁﬁ‘!.
If the £rst and the second sellers enrned 20% and 25% profit respectively, find the
percentage profit earned by the third seller
Sol. Let the original price of the jewel be R I* and let the profit earned by the third
seller be % i
Then, (100 + x¥% of 125% of 120% of P = 165% of P
[:mnu} 125 120 [1&5 X
- ._p:_-.:n{—-!l:F o | — P
100 10d0  TOHF 100

[ 3
= t1m+:}={mﬁ—1~”m%ﬂ1—;ngj-uu - x = 10%.

Ex. #1. A man sold two flats for Rs. 675,958 each. On one he gains 16% while on
the other he loses 16%. How much does he gain or lose in the whole transactian ?

Gol. Remember : In such o case, there is always a loss, The selling price is immaterial.
Common Loss and Gl ~ (167, ' [64 ,

= —J [ﬁjﬁ - ME]‘E = 2.56%.

Ex 29 A dealer sold three-fourth of his articles at a gain of 20% and the remaining
at cost price. Find the gain esarned by him in the whale transaction.

8al. Let C.P of whole be He. x

b of Ytho= s = C.P of ~th = Bk
r 3 4

Total 8.P. = Rs. [[mw of lii]-%] &M [ELE] .l 2O

(iain = Hir%-:]= Rs. EL_.:
V20

.

lam:i:[

b

Gﬂnﬁ:-[‘:;xi—xm{i % = 15%.
X

Ex. 23. A man bought a horse and & carriage for Ra. 3000 He sald the horee af &
gain of 20% and the carriage at a loss of 10%, thereby gaining 2% on the whole. Find
the cost of the hoerse. [(M.B.A. 2002)

Sal. Let the CP of the horze be Re x Then, C.F of the carnage = Ha. {2000 = =)

% of x — 10% of (3000 - x) = 2% of 3000
- x_DOU-X  eh o= Zr-5000+x =600 = 3r=3600 = x= 1200

Hence, C.P. of the horse = Rs. 1200.
Ex. 24. Find the single discount equivalent to a series discount of 20%, 10% and 5%,
Sol. Let marked price be Hs. T0M.
Then, Met BF = 95% of 90% of 80% of Ra. 100
a5 94 8k
g [mu 100 100
; Required discount = (100 — 684005 = 31.6%.
Ex 25 After geiting two successive discounts, a shirt with a ligt price of Rs. 150
is svailable at Rs. 108. If the second discount is 12.5%, find the first discount.
Sol. Let the first discount be x%.
Then, B7.5% of {100 - X% of 150 = 105
§75 (100 - x) (105 %100% 1007 _
-ﬁn—--lm w150 = 105 == 1D0-x1 = l—_HIMxSTB | £
=% x = (100 = 80) = 30,
: First discount = 20%.

» 100 | = Ra. 68.40
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Ex. 26. An uneducated retailer marks all his goods at 50% above the cost price and
thinking that be will still make 25% profit, oiffers a discount of 25% on the markad
price. What is hig actusl profit on the sales ? (IGNOL, 2003)

Sol. Let CP = Rs. 100, Then, marked price = Re. 150,
BF = T5% of Re. 150 = Ra. 112.50.
Gain% = 12.50%.
Ex. 27. A retailer buys 40 peas at the marked price of 8§ pens from a wholesaler
If be sellz thoee pens giviog & discount of 1%, what is the prefit percent? (85.5.C. 2003)
Bol. Let the marked price of each pen be Re. 1.
Then, C.F: of 40 penz = Rs. 36. SP of 40 pens = S0 of Re. 40 - Ra. 30,60,

Profit% = [%mm]m - 10%.

Ex. 28. At what percentage above the (.F must an article be marked so us fo gain
33% after allowing a customer w discount of 5% ? (M.B.A. 2003)
Sol. Let CP = s 100 Then, 3. = He. 133,
Let marked price be Kz, x
Then, 85% of x = 133 = 15-.1'—133 = .1:=[]3'31E.|=14D.
' ILEE 95

Fl
Marked price = 40% above C.P
Ex. 29. When a producer allows 36% commission on the retail price of his produet,
he earns & profit of 8.8%. What would be his profit percent if the eommission is reduced
by 24% 7 (M.B.A. 2002)
Bol. Let retail price = Re. 100. Then, commission = Bs 36
E: SF = Re. (100 - 36) = Rs. 64.

But, profit = 8.8%,
10 1 1000
C.F. = Rs, | B4 =
\10as %) =B 4
Now commission = Hs. 12 New 5P = Ry, (100 = 12) = Re &%

kin = Ra. lea- —cecd [ G
17 17
Oain® = [ 228 17 xlﬂl}‘]% = 10.6%,
L 17 " 1000
EXERCISE 11A

(OBJECTIVE TYPE QUESTIONS)

Directione : Mark (+) against the correct answer -
1. I gain 70 paise on Rs, 70. My gain peereent. iy

(@l 0.1% (E 1% (¢} T% () 10%
2 In terms of pereentage profit, which is the best transaction 7 {C.B.I. 2003)
C.F (in Ra.) Profit (in Rs.)
{a) 36 17T
i) 50 24
feh 40 18

() fi %
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3.

14

15.

If books bought ot prives ranging from Rs. 200 to Rs. 350 are sold at prices ranging
from Hs. 300 to Hs. 425, what & the greatest poseible profit that might be made in
selling eight books *

{a} Bs. 400 (b} Bz. 800

(¢} Cannot be detorrined (d) Nome of thiese

A shopkeeper sold an article for Re, 2090,42, Approximately, what will be the pereentage
profit if he sold that article for Rs. 260258 1

{a) 16% (b 204% [&) 250 [y B0%
Alfred buys an old scooter for Hs. 4700 and spends Rs. B00 on its repairs. If he 2ells
the scooter for Ke. 5800, hws gain percent s ; (R.E.B. 2003)
{a&) 1%* 1] 5%"-’; (¢} 10% (d) 12%
A shopkeeper purchased 70 kg of potatees for Rs. 420 and sold the whole lot at the
rate of Rs. 6.560 per kz. What will be his gain percent 7 (8.8.C. 2003)
1 1 1
(a) 4_6'5 ) 54—‘3’- el ﬂﬁﬂ'- {ay 20%

Sam purchased 20 dozens of toys at the rate of Rs. 375 per dozen. He sold each one
of them at the rate of Ks. 33. What was his percentage profit ? (Bank P.O. 2000)

() A5 ibl 4.5 ic) 5.8 (dl 6.5 (e} Nona of these
100 cranges are bought at the rate of Rs. 350 and cold at the rate of s 48 per dozen.
The percentage of profit or loss is : (B.5.C. 2003)
i@y 14 %‘l Emin ib) 15% pain [cd 14 E‘E lnes id) 15% loss
d
A man buys a cycle for Ks. 1400 and sollz it at a loss of 15%. What is the selling price
of the cycle 7 {8.5.0. 2002)
{a) Re. 1080 {E) Rs. 1160 (e Fe. 1150 (d) Rs. 1202

A sells an orticle which costs him Rs. 400 to B at a profit of 20%. B thon sells it to
C. making a profit of 10% on the price he paid to A How much does C pay B ?

{a) Hs. 472 (b} Hz 476G (e Rz, 528 (d Ms. 32

Peter purchased a machine for Ra. 80,000 and spent Hs. 5000 on repair and Be. 1000
on transpo.” and sold it with 25% profit. At what price did he sell the machine ?

(a) Rs. 1,056,100 {b) Ra. 1,086,250 (el Rz. 107,500
{d) Ra. 1.17.500 (¢} Nome of thess (Bank PO. 19498)
By sulling um article for Bs. 100, a man gains Ka. 15. Then, his gain% i :

" 2 11 al
(2] 15% (b lE‘Eﬁ:— {c} 17”‘1- { el 1-4‘1:

When a commadity is sold for He, 34.80, there i3 & logs of 2%. What is the cost price
of the commodity 7
{a) R=. 26.10 ib) Rs. 43 (¢} Rs 43.20 {d) He. 486.40

A shopkeeper expects o gain of Eﬂi"i on hig cost price. If in a week, his sale was of
Rs. 392, what was his profit 7 (Bank P.O. 2003)
(a] Bs. 18.20 ib) Ra. 70 (e} Hs. 72 (d) Rs. 88.25

The sale price of an article including the sales tax iz Ra. 616. The rate of snlos tax
is 10%. If the shopkeeper has made a profit of 12%, then the cost price of the article
is :

(a} Re. 500 {b] BRs. 0515 ic) Rs. 530 (d} Rs. &00
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Saransh purchased 120 reams of paper at Rs. 80 per ream. He spent Rs. 280 on
transportation, paid octrei at the rate of 40 paise per ream and paid Re. 72 Lo the
cooiie. I he wants to have a pain of 2%, what must be the gelling price per ream 9
(a) Hs. B& {b) Hs, 8748 (et e, 89 (d) Rs. 80

A person bought 20 litres of milk at the rate of Re & per litre. He got it churned afler
spending Ra. 10 und & kg of cream and 20 litres of toned milk were obtained. [ he
sold the cream at Rs. 30 per kg and toned milk at Rs. 4 per litee, hir profit in the
bransaction is

{a) 25% LB 36.3% iz 37.0% () 42.5%
dacob bought a seooter for & certain sum of money. He apent 10% of the cost oo repairs
and sold the scooter for a profit of He. 1100, How mueh did he spend on repairs if he
made a profit of 20% 7 (Apsistant Grade, 1997)
{@) R=, 400 (b Rz, 440 icl Ra. 500 (d) Ha. GGO

A manufscturer undertakes Lo supply 2000 pieces of & particular component at Rs. 25
per picee, According o his estimates, even if 5% fail Lo pass the quality tests, then
he will make a profit of 25%, However, as it turned oui, 50% of the COMpOaenls were
rejected, What is the lose to the manuficturer 7 (M.A.T. 2003)
{r) Rs. 12000 (B} R 13,000 fc) Rs. 14,000 () Rs. 15,000

- A trador buys a chair for Bs, 600 and sells it for Rs. 765 at a credit of 4 months.

Reckoning money worth 6% poa., his gain percent is -

ta) 20% (b EE%& () 25% id) 2?%'1«
When a plat is sold for Bs. 18700, the owner loges 15%, At what price must the plot
be sold in order to gain 15% ? (AAQ, Exam, 2008)
{a} R, 231,000 b Bs. 22 500 (r) Rs, 25,300 (d} Rs, 95 800

A fruitseller sells mangees at the rote of Rs, 9 per kg and thereby Ioses 20%. AT what
price per kg, he should have sold them to make a profit of 5% 7 (R.R.B. 2002)

(a} Rs. 11.81 [&r s 12 {ch Re. 1275 fd] Re, 12.31

A property dealer sells a house for Re. 5,30,000 and in the bargain makes a proflt of
5%. Had he sold it for Hs. 5,00,000, then what percentage of lose or gain he would have
made ? (Hotel Management, 2001)

La} 2%‘* guin bl 1% loss ieh 12%*?& loss (e} ]EEW logs

A shopkeeper 2ells one Lransistor for B2 840 at & gain of 20 and another for Re. 980
at @ loss of 4%, His tolal gein or loss percent is - (Hotel Management, 1999)

fa) 5;;*} [o=a [ 5:—?5 guin (&l E%‘I- gain (d) Mane of thess
d
4
If selling price of an article is 3 of it2 cost price, the profit in the lransaction ic -

[&) !Egﬁ- ¥ El.‘.ll'}E {eh 2.'-1'{- [ ] 331'&
3 2 2 A

- The ratio of the cost price and the selling price is 4 - 5. The profit percent is -

falh 10% by 0% (cl 25% (d) 30%
(Hotel Management, 2003)

The ratio between the sale price and the cast price of am article ia 7 : 5. What 15 the
ratio betweon the profit and the cost price of thal article 7 (Bank PO. 2000

fa) 2:7 ib 5:2 & §.:2
(ol Mata inadequate {ol Nome of these
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40.

41.

A man gains 206 by selling an article for a cortain price. If he sells it at double the

price, the pereentage of profit will bo : {8.5.C, 2004)
fak 40 LB 10D ie} 120 ey 140
If selling price iz doubled, the profit triples. Find the profit poreent :(M.AT. 2001)
{ml ﬂﬂg (k) 100 i) lﬂﬁ-% () 120

AL what profit percent mwest an article be sold so that by selling at hall that price,
there may be a loss of 30% ?

(@) 5% by 6% (c 40% {d) 42%
The C.FP. of an article is 40% of the SP. The pereent that the 5P is of OF is :
{a}y 250 () 240 (c) &0 (ef} 400

By =zelling a pen for Rs, 16, 0 man loses one-zixtesnth of whal it costs him. The cost
price af the pem is :
i@ He. 18 (hy Be. 18 (¢) Rs, 20 {d)l Ks, 21

. Hy selling an article, Michael earned a profit equal to ene-fourth of the price be bought

it. If he sald it for Re. 375, what was the cost price 7

i@y Ha. 281.7H {b) Hs. 30 {cy Ke. 31250 (d) He. 350
0% loss on eelling price is what percent loss on the cost price ?
tal Bﬁi (8 nl—i'l-sa (o) 10% (d) 1%
1
If loss &8 3 of 5., the loss porcontage s
il 15%'& (b 20% iel 25% (e 33%‘5

I a certain store, the profit is 320% of the cost. IT the cost increases by 25% but the
gelling price remains constant, approximately what percentage of the selling nrice is
the profit * (M.A.T 1998)
{#) 30K (&) TO% &) 100 (dh A6%

The profit earned by selling an article for Ks. 832 is equal to the loss incurred when
the same article ic sold for Re, 448, What should be the sale pries for making 0%
profiy ¥ (Bank FO. 2000)
{a) Rs, 930 (b Rs. 960 ek Ra. 1060 {d] K=, 12040 (of Meone of these
The profit earned by selling an article for Hs, 30 is double the loss incurred when
the same article is sold for Bz 450, At what price should the artide be sold to make
35% profit ?

tah Rs. GO0 [b) Ra. 750 {el Hu, B0 () Dhota inndequnte
The percentage profil earned by selling an article for Bs. 1920 is equal to the percentapge
loss incurred by selling the same article for Rs, 1260, At what price should the article

be sold to make 25% profit 7 (SIDRI, 2000)
(¢} Rz, 2000 i Ra, 2200 (e} Rs. 2400
(dh Data inadeguate (¢} None of these

Profit earned by selling an article for Rs. 1060 is 20% more than the loss incurred by
selling the article for Rs. 950, At what price should the article be sold Lo earn 20%

prodit T

ia) H=. 580 th) Rs. 1080 (e} Rs. 1800 Ll None of these
If the eost price of 12 pens iz equal to the selling price of 8§ pens, the gain percont is :
fa) O i b 3?5%‘5‘ (e 50% " ¥ E'Eﬁ'}

(5.5.C. 2004)
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The cost price of 19 articles 18 equal lo the selling price of 16 articles. Gain percent is

() 3% () 15505 (0 183% () 20%
If the selling pries of 50 articles is equal to the cost price of 40 articles, then the loss
O gmin percent is : (Hotel Managemen?, 2008)
L&} 2OF loss (b)Y 20% gain e} 25% loss {dh 25% gain

- Af by selling 110 mangoes, the C.F of 120 mangees is realised, the gain percent is -

i 1 10 1
A [ 1—% = O

{a) ‘311'3 (b H‘ﬁ el T (e} 119
The cost price of 20 articles is the same as the selling price of x articles. I the profit
is 23%, then the value of xig : (M.AT 2004)
{la) 15 (b 16 (¢ 18 id) 26
On an order of & dozen boxes of a consumer product, a retailer rocrives an extra doren
free. This is equivalent ta allawing hirm a discount of (C.B.1. 1987)
{a) 15% ) 1&%% fich m%% (d) 20%
A man seld 18 cots for Ra. 18,800, gaining Lhercby the eost priee of 3 cols. The cost
price of & gat is : (5.5.0. 2000)
(&) Rs. 830 (6 Rs. 700 (e Re. 750 (d) Hs. 200
If on selling 12 notebooks, a seller makus a profit equal to the selling price of 4
notebooks, what is his percent profit 7 (Bank PO. 2000}
ia) 1'3':' (b 25 {ch 50
(ah Data inadequate () Mone of these
On selling 17 balls at Rs. 720, there is a loss equal 1o the cost price of 5 halls. The
cost price of a ball is : (B.8.C. 2004)
(a) Hs. 45 (b} Ra. 50 ie) Re. 55 {d] R=. 60

A vendor losce the selling price of 4 sranges on selling 36 oranges. His loss percent
is :

Laj 10% {bj ]1%1- (el IB%‘} (d} MNone of theso
A marn buys 2 dozen bananaz at Rs. 16 per dozen, After selling 158 bananas at the mie
of Re. 12 per dozen, the shopkeeper reduced the rate to Re. 4 per dozon. The percent
logs is : {Bection Officers’, 2003)
(a} 25.2% (b} 32.4% (el 36.5% idy 37.5%

A man bought apples at the rate of 8 for Rs. 34 and cold them at the rate of 12 for
Rs. §57. How many apples should be sold to carn o net profit of Bs, 45 7 (8.2.C. 2003)
(2] S (B} 100 {eh 135 idy 150
Oranges are bought at the rate of 10 for Re. 25 and sold at the rate of 9 for Ra. 25,
The profit is : .

1

1
(@) 9% (b} 10% (@ 115% d 123w
Some articles were bought at 6 for Rs, 5 and sold at 5 for Re. 6. Gain percent is :
(&} 30% 1B} ﬂﬂ%'} (el A5 ld} 44'%
(8.5.C. 2004)
A men bought some fruits at the rate of 16 for Rs. 24 and sold them at the rate of
& for Ms. 18. What is the profit percent 7 {(Bank B0, 2003)

(@l 25% [B) 40% el S0 idl B0% {e) Mone of these
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B6. A man purchased s box full of pencils at the rate of 7 for Ks. § and sold all of them
at the rate of B for Bs 11. In this transaction, he gained Es. 10. How many pencils
did the box comtain T {C.B.1. 1587)
(a) 100 . (b 112 (ch 114 {d) 1156

57. A man bought a number of clips at 3 for a rupee and an aqual number at 2 for a rapee.
..'.twh.nt.primp-rﬁnmnhmldhiEnﬂthmmmah:p-uﬁtuiﬂﬂ'l:?

{a) Bs. 4 (b} Bs. & ic) Re, & (d) Rs. 7

58. A man buys eggs st 2 for Re. 1 and an equal nomber at 3 for Bs. 2 and sells the whole

at 5 for Bs. 3. s gain or loss poreont is @

F:1] E%E loss ] 3%% gain L&} Hg':!- loas - 1] Eg'ﬁt gain
7 7
0. A man bought some oranges at Rs. 10 per dozen and bought the same number of

oranges at Hs. & per dozon. He sold these oranges at Rs. 11 per dozen and gained
Re. 120. The total number of oranges bought by him was :

im) 30 dozens (b) 40 dozens {c) 50 dozens (d) 60 dezens
B0. A vendor beught toffees at 6 for a rupee. How many for o rnupes must he sell to gain
20% 7 (C.B.I. 1998)
{a) 3 (b 4 ich 5 id) &
61. By selling 12 toffees for a rupee, a man los#s 20%. How many for a rupee should he
gell vo gei & gain of 20% 7 (R.E.B, 2003}
(a) & (b B {c) 10 ldh 156

82, By selling 45 lemons for Rs. 40, a man loses 20%. How many should he sell for
Rs. 24 to gain 20% in the transaction ?
(&) 16 (b 18 {ch 20 (dh 22
§3. A trader mixes 26 kg of rice al Rs. 20 per kg with 30 kg of rce of other varicty at R 36
per kg and sells the mixture at Rs. 30 per kg. His profit percent is :
{a) No profit, no loas (b 5% c 8%
(dy 10% (e Wone of these (Bank FO. 2003)
B4. Arun purchased 30 kg of wheat at the rate of Rs. 11.50 per kg and 20 kg of wheal at
the rate of Rs. 14.25 per kg He mixed the two and sold the mixture Approximately
what price per kg should he s¢ll the mixture to make 30% profit ¥ (Bank F.O. 135839)

(2] Hs. 14.80 (b He. 1540 {z) Rs. 15.60
(d} Rs. 16.30 (& He. 1830

656, Padam purchased 30 kg of rice ot the rate of Rs. 17.50 per kg and ancther 30 kg rice
al @ cortain rate. He mixed the twe and scld the entire guantity at the rate of
Rs. 18.80 per kg and made 20% overall profit. At what priee per kg did he purchase

the lot of another 30 kg rice 7 (Bank FO. 3000)
(a) Re. 12.50 (k) Rs. 13.50 (c) Ba. 14.50
(d) Bs. 15.50 (¢} None of thess

66. A trader mixes threw varieties of groundnuts costing Ra. 50, Rs. 20 and Rs. 30 per kg
in the catio 2 = 4 ' 3 in terms of weight, and sells the mixture at Rs. 33 per kx. What
percentage of profit does he make 7 (Hotel Management, 1598)
(a) 8% (b 8% [eh 10% {d) None of these

§7. A dairyman pays Rs. 6.40 per litre of milk. He adds water and sclls the mixture at
Rs. & per litre, thereby making 37 5% profit. The propertion of water to milk received
by the customers is : (M.AT 2003)
(&) 1:10 (B 112 (eh 1: 18 (d] 1 :20
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Cuantitative Aptitude

By mixing two brands of tea and selling the mixture at the rate of R 177 per kg,
a shopkecper makes a profit of 18%. I to every 2 ke of cne brand costing Rs. 200 per
kg, & kg of the other brand is added, then how much por kg does the other brand cost ™

(a) Rs. 110 (b} Re. 120 (e} Rs. 140 (e}l None of these
(Hotel Management, 199%)

The manufacturer of a certain item ean gell all he can produce at the selling price of
Rs. 60 each. It costs him Hs, 40 in materials and labour to produce emch ftem and
he has overhead expenses of Ke. 3000 per week in order to operate the plant. The
aumber of units he should prodoce and sell in order o make a profit of at least
Bs. 1000 per weck, is -

(b 200 L BT (ch 300 (d) 400
A dishonest dealer uges o seale of D0 em instead of & metre scale and claims to sell
at cost price. His profit is : (N.LET 2000}
(o) 9% LB} 10FE fe 12% (d} WNone of these
A shopheeper professes to sell his goods at cost price bul uses s weight of BOD pm
instead of kilogram weight. Thuz, he makes & profit of ; (C.B.1. 1587
(a) 20% () JE;’-‘- (&) 25% (d) Mone of thesae
A dishonest dealer professes to sell his goods at cost price. But he uses a lalse weaght
and thus gains ﬁ:—E'ﬁx For a kg, he usss a weight of : (A.A 0, Exam, 2003)
(a) 840 pms (B) 247 gms te) 253 gms (d) 860 pms
A shepkeeper cheats o the extent of 10% while buying as well as selling, by using false
weights. His tetal gain is : (Bank PO, 2003)
.
{a) 10% i 11% (e} 20% id 21% led H-ﬁi

A grocer sells rice at o profit of 10% and uses weights which are 20% less than the
market weight, The total gain earned by him will bo -

fak 0% (Y 3h5% (o) 37.5% () Mone of thaas
A fair price shopkeeper takes 10% profit on his goods. He lost 20% goods during thadt,
His logs percent iz - (8.8.C. 2000}
[a) 8 (b 10 (e 11 (d} 12

A gells a bieyele 1o B at a profit of 20%, B sells it to C at a profit of 25%. If C pays
Ra 225 for it, the eosl price of the bBleyde for A is (B.3.F 2001)
(a) Ra 110 B} Ra. 120 (ch Rs. 125 {d) Re. 150

A bought a radio set and spent Rs. 110 on its repairs. He then sold it to B af 20%
profit, B sold it to C at a loss of 10% and C sold it for Rs. 1188 at o profit of 10%.
What is the amount for which A bought the radio set ?

{al Hs, BSO (b Ke. 850 (c] R=, 900 idl Kz 950

A house worth Rs. 1,50,000 is sobd by X to Y at 5% profit. ¥ solls the house back to
X at 2% loss. Then, in the entire transaction -

(a} X loses Hs, 1350 (b} X guins Ra. 3150

(el X loses Hs. 4350 (d} X gnins Ha. 4350

A manufacturer sells a puir of glasses to a wholesale dealer it n profit af 18%. The
wholesalor sells the same to a retailer at a profit of 20%. The retailer in turn sells
them to a customer for Rs. 30,08, thereby earning a profit of 25%. The cost price for
the manufactorer is :

ta) Ra. 15 (b Ra. 18 {ch Rz 17 {dh Rs. 18
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An article was sold for Bs. 144, If the pereentage of profit was numerically equal to
the cost price, the cost of the article was ;
(a) Rs. T2 (5 Rs, 80 ic) Rs. 30 (efy Ra. 100

Rahul purchased & seooter ab %ﬂq of ite selling price and sold it at 12% more than

iwe zelling price. His gain is :

3 . 1
(a) 20% ) ‘HE‘E (¢} 30% (e} 3313%
A man buys an article for 10% less than its valoe and gells i for 10% more than its
value. His gain ur loss peroent is : (B.B.C. 1999)
(&) no profit, no loss (bl 20% profit
{e) lesa than 20% profit i) more than 20% profit

Samant bought a microwave oven and paid 10% less than the original price. He sold
it with 0% profit on the price he had paid. What percentage of profit did Samant earn

on the original price 7 (Bank PO. 2002)
(&) 17% (b 207 (& 27% (dh 32% (& Mone of these
If 5% more is ghined by zelling an article for Fa. 350" than by selling it for He. 340,
the eost of the article is : (C.B.1. 1887T)
(a) BHs. 50 (b Rs. 160 (e) Ra. 200 (dy Rs. 225

. Tf a man reduces the selling price of a fan from Ra. 400 to Rs. 380, his loss increases
by 2% The cost price of the fan is : {(RR.B. 2001}
(a) Rz 430 (b Rz 500 fel Ra. 600 ()l Mane of these

An article when sold st 8 gain of 5% yields Bs. 15 more than when sold at a loss of
5%, Ita cost price would be ;
{m) Rs. 150 (k) Bz, 200 {¢] Rs. 250 () Ha. 300

A shopkeeper gells an article at & loss of 12%%. Had he scld it for Rs. 51.80 more,

he would have earnod a profit of 6%, The cost price of the article is :
(@] Ka. 280 (b s, 300 [ch He. 380 {d) Hs, 400
(Section Officers”, 2003]
The difference between the cost price and sale price of an article is Rs. 240. If the profit
is 20%, the selling price is .
(a} He. 1240 (by Re. 1400 (ch Rs. 1600 1) Mone of Uhese
i

. A dealer sold an article at a IMHEE%. Had he sold it for Bs. 100 more, he would

have gained T%':t-. To gain 122%  he should sell it for

{a) Ra. B5 (h) Hs 925 (@ Rz 1080 (d} Ks. 115
The cash differance between the selling prices of an article at w profit of 4% and &%
is Rs.'3. The ratio of the two selling prices is : {C.B.I. 2003}
{a)] 51 : 52 (b)) 52 : 53 {ch 51 : 53 {dy B2 : 55

A shopkeeper sells twoe watches for Rs. 308 each. Ou one he geis 12% profit and on
the other 12% loss. His profit or loss in the entire transaction was : (B.B.F. 2001)

11

{&) Neither profit, nor loss 1] -'i—!'. T loss
11 z
L] Cel) A

(g) 1=—=" prafil dl % loss

A man sells two fAats ai the rate of Bs. 1595 lakhs sach. On ong he gains 5% and
on the other, he loses 5%. His goin or loss percent in the whole transaction is :
(a) 0.26% loss (b 0.25% gain (o) 25% loss idl 25% loss



104,

101.

Cuantitative Aplitude

A man sells two commodities for Rs. 4000 each, neither losing nor gaining in the deal,
If he sold one commodity at n gain of 25%, the other commedity is sold at o loss of ;

{al zﬁ‘-;i () mgm () 26% (d} Moo of thase.
A house and a shop were sold for Rs_ 1 1akh each In this transaction, the house sale

resulted inte 20% logs whereas the shop sale resvlted inte 20% profit. The entire
transaction resulted in ;

{a) mo loss, 1o gain (b) loss of Rs, ﬁ lakh
1 1
of Re. — i i

(e loss T lakh (d) gain of Ha 1 lakh

Ranjan purchased 120 tables at a price of Rs. 110 per table. He sold 30 tables at &
profit of fis. 12 per table and 75 tablee at a profit of Rs. 14 per table. The remaining
tables were sold sl » loss of Rs. 7 per table. What is the average profit per table ?
i{a) Rs. 10.04 (k) Rs 10.875 (¢} Re. 12.80 {d) Hs, 12.875
Hemant sold 10 sarees for a total profit of Rs. 460 and 12 saroes for & total profit
of Rs. 144. At what profit per saree should he sell the remaining 20 sarees so that
he gets an average profit of Hs. 18 per saree 7

(&) Rs. T4D (k) Hs. T.60 (el Ra. 7.80 (d} Rs. 8

Banket purchased 20 dezen nolebooks at Rs. 48 per dozen. He sold B dozen st 10%
profit and the remaining 12 dozen with 20% profit. What is hig profit percentage in
the transaction ?

(&) 7.68 (b} 15 (ch 16 (d) 19.2

A man purchased sugar worth Rs 400, He sold gthntllnuurlﬁandthu
remainder at a gain of 10%. On the whole, he gots -

(a) a loss of 5% (b) & gain of 5%&:
1 5
{ﬂnlm:ﬂ‘EEﬁ- {d}nhﬂﬂ'.ﬁﬁﬁ

2
A businessman sold 3 of his stock at o gain of 20% and the rest at a gain of 14%.
The overall percentage of gain to the businessman is :
(&) 12% b 17% ek 18% (d) 20%

A cloth merchant sold half of his cloth at 20% profit, half of the remaining at 20% loss
and the rest was sold at the cost price. In the tota] transaction. his gain or loss will

be : (8.5.C. 2003)
(2} Neither loss nor gain (b 5% loss
{¢) 5% gain (d) 10% gain

A person purchases 90 clocks and sells 40 clocks at & gain of 10% and 50 clocks at
& gain of 20%. If he sold all of them at a uniform profit of 15%, then he woueld have
got Ra. 40 less. The cost price of each clock is : (Hotel Management, 2003)
{m) Rs. 50 (b) Rs. 60 (e} Bs. 80 (d) Rs. 90

A person earns 15% on an investment but losez 10% on another investment. If the
ratio of the two investments be 3 : 5, what is the gain or loge on the two investments
taken together 7

(a) s%-ﬁ Joas (B 185% gain (@ 13%: ot (d) Mobe of these

A man bought goods worth Rs. 8000 and sald half of them at a gain of 10%. At what
guin percent must he sell the remainder so as to get a gain of 25% on the whale 7

(a) 35% (B) 30°% (&) 35% (d} 40%
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An article was sold for Rz, 144, If the percentage of profit was numerically equal to
the cost price, the cost of the article was :
(&} Rs, T2 (&} Rs. &0 (e} Re. 90 (d] Ha. 100

Rabul purchased a scooter at Ethufilnselﬁmpﬁmundmldﬂat 12% more than

its pelling price. Hig gain is :

(a) 20% (B} 29%-1 (&) 30% (d) ::Equw

A man buys an article for 10% less than its value and sells it for 10% more than its
value, Hiz gafn or loss percent is (8.8.C. 1999}
(a) no profit, no loss (b 20% profit

(c) less tham 20% profit () more than 20% profit

Samant bought 2 microwave oven and paid 10% less than the original price. He sold
it with 30%: profit en the price he had paid. What percentage of profit did Szmanl carn

on the original price ? (Bank PO. 200Z)
P {b) B0 (e 27% (o 2% {8 None of these
If 5% more is gained by selling an article for Rs, 350" than by selling it for Ra. 340,
the cost of the artiels ia : {C.B.I. 199T)
(a) Rs. 50 {b) Hs. 160 & Rs. 200 (d) Re. 225

If a man reduces the selling price of a fan from Hs. 400 to Re. 280, his loss incréases
by 2%. The cost price of the fan iz (R.EB. 2001)
lal Hs. 480 (bl Bs, 500 {c) RBs. GO0 (d) Mone of thesa

An article when sold at a gain of 5% vields Rs. 15 more than when scld at a loss of
5%. Itz cost price would be :
(a) R= 150 [k} Hs. 200 (c) Rs. 250 (d) Bs. 300

A shopkeeper sells an article at o loss of I‘J%‘i. Had he pold it for Ks. 51.80 more,

he would have earned a profit of 6% The cost price of the arlicle is :

{a) Re 280 ib) Rs. 300 (c) Rs. 380 id) Rs. 400
(Section Officera’, 2003)

The differenes botween the cost priee and sale price of an article is Ra. 240. If the profit

is 20T, the selling price is : L

{a] Rs, 1240 {b) Ra. 1400 (el Rs. 1600 id} None of these

A dealer sold an article at a loss of 2%%. Had he sold it for Hs. 100 more, he would

haee graimed '.I'%".E. To gain 1'.1!;“-'&» he shiould sell it for :

(a2} Rz, BS0O (b) Hs. b i) R=. 1080 id) Bs. 1125
The cash differsnee betwoeen the selling prices of an article at a profit of 4% and 6%
iz Rz 3. The ratic of the two selling prices is : (C.B.1. 2003)
(a) 51 : 52 (b} 52 : 53 {c) 61 ; 54 (dh 52 : 55

A shopkeeper sells two watches for Rs. 308 each. Ou one he gets 12% profit and on
the other 12% loss. His profit or loss in the entire transaction wae : (B.EE 2001)

11

{a) Neither profit, nor loss L[] IE* loes
11 2

A man sells two flats al the rate of Rs. 1.9956 lakhs each. On one he gains 5% and
on the other, he loses 5%. His gain or loss percent in the whole transaction is

(a) 0.25% loss (b} 0.25% gain () 2.5% loss id) 25% loss
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A fruitseller haz 24 kg of apples. He sells a part of these at a gain of 20% and the
balance at a loss of 5%. If on the whole he earns a profit of 10%, the amount of apples
gold at & loss is :

(a) 4.6 kg ib) 6 kg (e} 96 kg (d) 11.4 kg

. Two-third of a consignment was sold at a profit of 5% and the remainder &t & loss

of 2%. II the total profit was Rs. 400, the value of the consignment (in Rs.) was ;
(&) 10,000 (B} 12,000 i) 15,000 {d) 20,000

A trader purchapes & wateh and & wall clocl for Be. 300, He salls them making a preftt
of 10% on the watch and 15% on the wall clock. He earns a profit of Rs. 51.50. The
difference between the original prices of the wall clock and the watch is egual to
(a) K. 80 (hl Ba. 100 (e} Ra. 110 {d} Ha. 1210
Albert buys 4 horses and & cows for s 13 400. If ke sells the horses at 10% profit
and the cows at 20% pn]ﬁl.,ﬂl-l:n he mares & botal W{!ﬁtd'ﬂ'_s 1880, The cost of & horse
is: (C.D.5. 2003)
(a) Rs. 1000 (b1 Rs. 2000 et Rs. 250 d) Hs. 30040

A man parchases two clocks A and B at o total cost of Hs 650, He sells A with 20%
profit and B at a loss of 25% and gets the same selling price for both the clocks. What
are the purchasing prices of A and B respectively ?

(o} Ra. 225, Rs. 425 (b} Ra. 250, Ra. 400

(c) Hs. 275, B=. 373 (d} Bs. 300, Ra. 350

The C.F of two watches taken together is Bs. 840. If by selling one at a profit of 16%
and e other atl a loss of 12%, there = no loss or gain in the whole transaction, then
the (P of the two watches are respectively :

(o) fs. 360, Rs, 480 (b} Rs. 480, Rs. 360
(¢} Bs. 380, Rs, 460 (d) Bs, 400, Ra. 440

On gelling & chair at 7% loss and a table at 17% gain, & man gains Ra. 206 If he sells
the chair al 7% gain and the table at 129% gain, then he gains Rz, 400, The actual
price af the table is :

fa) Ha. LGOO {b) R=, 1B0O (e Hs. 2200 {d} Ra. 2400

A shopkeeper offers 2.5% discount on cazh purchases, What Eash amount would Hoban
pay for a eyvele, the marked price of which is Hs, 650 ? (IEMNOU, 2003)
{al Rs. 633.25 ik Rs, 633.75 i} Rs. 634 {d} Rs. 635

Ifa company =ells a car with a marked price of Rs. 2,72,000 and gives a discount of
4% on Rs. 2,00,000 and 2.5% on the remaining amount of Bz, 72000, then the actual
price charged by the company for the car 15 ; (8.8.C, 2003)
(&) Ra. 250,000 (k) Rs, 2.55.000 () Rs, 2.60.100 {d} Rs. 2.62.200
Garima purchased & briefcass with an additional 10% discount on the reduced price
after deducting 20% on the labelled price. If the labelled price was Rs. 1400, al what
prico did she purchase the briefcase 7 (Bank PO, 3002)
{a) Rs. 980 (b} Bs. 1008 (¢} Re. 1056 {d) Bs 1120 (g} None of these
A bag mariked at Rs. 80 is sold for Rs. 68. The rate of discount is :

(@) 12% (b 15% (¢ 1732% (d) 20%

A pair of articles was bought for Rs, 37,40 at a discount of 15%. What must be the
marked price of each of the articles 7 (AAD. Exam, 2003)
(a) Hs. 11 {b) Rs, 22 ic} Re. 33 Wl Hs 44

A shopkeeper gives 12% additional discount on the discounted priee, after giving an
initial dizscound of 20% on the labelled price of a radio. If the final sale price of the
radio is Rs. 704, %then what is its labelled price ? (R.E.B. 2002)
{a) Rs. K44 80 (b Rs. 929.28 i) Rs. 1000 {d) Rs. 1044.80



117.

118.

1L,

121.

123,

128,

Cuantitative Aptitude

A fan iz listed at He. 1500 and & discount of 20% is offered on the list price. What
additional discount must. be offered Lo the customer to bring the net price t Ks. 1104 7

(&) B% b 10% ) 12% [y 15%
({85.5.0. 2003

A dirsount of 15 on one article 12 the same a5 a discount of 20% on another article.

The costs of the two articles can be . {8.5.0. 1999

(a¥ Rs. 40, Rs, 20 b)Y Rs. 60, R, 40 ich RBs, B0, Rz B0 (d} Rs 00, Rs, 40

If the 5.F. of Rs. 24 resulls in a 3% discount on st price, what SP would result in
a 30% discount on list price 7

ial Rs. 18 (b Ra. 20 (ed He 21 (dl Rs. 27

An article was sold for Re. v after giving n discount of x%. Then, its list price ia :
100y 100y i 100y

ia) 100 - = b} e {ch T i00 {d)l None of these

Jatin bought & refrgerator with 0% discount on the labelled price. Had he bought
it with 20% discount. he would have saved He 500, At what price did he buy the
tefrigerator ¥

{u) Ks. BDODD (b} Rs, 20,000 {c) Rs. 12,500 (d) Rs. 15,000
A manufacturer offers a 20% rebate on the marked price of a product. The refailer
offers another 30% rebate on the redueed priee. The two redustions are equivalent to
a single reduction of -

(a) 20% (k) 44% (el 46% id} 50
Successive discounts of 1%, 1% and 15% amoumt to @ s'i:ng"lr discoant of -
(a) 32.68% (b 35.28% (el 36687 (et Mene of these
(R.R.B. 2003)
List price of an article at a showroom iz Re. 2000 and it is being sold at successive
discounts of 20% and 10%. Itz net selling price will be ; (3.5.0. 2004)
(@) Rs. 1400 (hy Ra 1440 (e Hs. 1520 (d) Ks. 1700
Find the selling priee of an article if a shopkecper allows two successive discounts of
5% each on the marked price of Rs. BO. (C.B.I. 20031
(g} Rs. 7010 (B Ra 7020 [ Hs. 72 {d) Rs. 72,20

The price of a YCR is marked at Rs, 12,000, If successive discounts of 15%, 10% and

5% be allowed, then al what price does a customer buy it 7

(a) Rz, 5400 (b} s BTEL {¢] Re B35 (), None of Lheso
{Hotel Menegement, 2002)

After aucersgive discounts of 12% and 5% an article waa sold for Rs. 200, What was

the original price of the ariicle 7

{a} Rs. 226 (B Bs. 250 (& Ra. 252 () Ra 2659
ﬁ.;lfﬂﬂ to a hill for Rs. l.,l:ﬂ:l.l:lm, the difference beiween a discount of 40% and two
suecesgive discounls of 36% and 4% s . (Bection Officers’, 2003)
{a) Mil (b Rs. 1440 i) Ra. 2500 i} Hs. 1960
The difference between a discount of 55% and two successive discounts of 20% on a
certain bill was Rs, 22, Find the amount of the hill. (Bank PO, 1884)
(a) Rs. 200 {b) Hs. 11 ie) Hs, 2200

(d) Data inadequate i# Mone of these

Two shopkeepers announce the same price of Rs. 700 for a sewing machine. The first
oifers successive digcounts of 30% and 6% while the seoond offors successive discminis
of 20% and 16%. The shopkeper that offers belier discount, charges ... less than
the other shopkeeper

(8) Rs. 980 (b} Rs. 16.80 (e} Rs. 2240 () Ke, #6540
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‘The marked price of a watch was Hz. 720 A man baught the same for Re. 550,80 after
getting two successive discounts, the first being 10%, What was the second discount
rate ? {8.8.C. 2000}
(@) 1%% (b 14% ic) 16% idh 16%

A shopkeeper purchased 150 identical pieces of calculators at the rate of s, 250 each,
He spent an ameunt of Bs. 2600 on transport and packing. He fixed the labelled price
of each calewlator at Rs. 320, However, he decided to give a discount of 5% on the
labelled price. What iz the percentage profit earmed by him ?  (Bank PO, 19%)

ia) 14% (b 15% £y 16% (d) 20% Lk None of these
A tracker marked the pricg of his commedity so ps to include a profit of 265%. He allowed
discount of 16% on the marked price. His actual profit was {8.5.C. 2004)
L) 5% Ly 9% (ol 16% (dh 25%

. A tradesman marks his geods 309 above the CP If he allows o discount of El—ﬂ:.

them hiz gain pereent (s .

@) 2128 (b) 22% @ nﬂqim (d) None of these
The price of an article is raised by 30°% and then two successive discounts of 10% each
are allowed. Ultimately, the prce of the arlicle i ; {5.5.C. 2003}
(a} decreased by 5.3% (b increased by 3%

(¢} increased by 5.9% id) increased by LO%

A petailer buys 30 articles from o wholesaler ab the priee of 27, If he sells them at
their marked price, the gain percent in the transaction is :

1 bl &
L) E'” by 10°% i ”E [} 1!}:3‘]1

By sellmg an uymbrella for s, 300, a shopkeeper gains 20%. Duning a clearance sale,
the shopkeeper allows a discount of 10% on the marked price. His gain percent during

the sale is : (MEBE A 2002
(a) T {b) 75 irl & [d} 8

Thee cost price of an article 15 84% of the marked price. Cabeolade the gain peroent after
allowing a discount of 12%. (CBI 1598)
ia) 37.5% {b) 48% (c) 50.5% [dy 52%

A shopkeeper allows a discount of 10% on the marked price of an item but charges

a sales tax of 8% on the discounted price. IT the customer pays Rs. 680,40 as the price

including the sales tax, then what |5 the marked priee of the ibem ?

{al Hs. 630 () Hs. 7060 (e) Ks. TAO () None of thess

At what pereent ahoee the rost price must 5 shopkeeper mark hiz goods so that he

guins 20% oven after giving a discount of 10% on the marked price 7 (5.8.C. 2004)
1

lal 25% (b} 0% (e .‘.]-35*1- [} 3?%*}

At what price should a shopkeeper mark a radio that costs him Re. 1200 in order that

he may offer a diseount of 2¥% on the marked priee and sl malee a profic of 25% 7

{al Re. 1675 (b Rs, 1875 (¢} Rs. 1900 {d} Ra, 2025 () Mone of these
{Bank PO. 1998}

A shopkeeper carns a profit of 12% on selling a book at 10% discount on the printed

price. The ratio of the cost price to the printed price of the book is :

lal 45 : 56 (b) 30 - Bl fc) 35 268 i8Sy 135

: : 2 .
By zelling an article at 5 of the marked price, there is a loss of 25%. The ratio of
the marked price and the cost price of the article iz : {5.5.C. 2003}
la) 2.6 (b 6 :2 (el B: 16 (e 15 : B



144,

145.

147.

148,

148,

150,

151.

152,

168,

Quantitative Aplitude

A tradesman gives 4% discount on the marked price and gives L article free for buying
every 15 articles and thus gains 35%. The marked price is above the cost price by
{2) 20 (b} J9% le) 40% idy 50%

A trader marked the selling price of an article at 10% above the cost price. At the time
of gelling, he allows certain diseount and suffers a loss of 1%. He allowed a discount

af : (85.5.C. 2003)
(a} 9% (B} 10% gl 10.5% (d) 11%
A shopheeper fixes the marked price of an item 35% above its cost price, The pereentage
of discount allowed to gain 8% is : {Assistant Grade, 1987)
(a} 20% (b} 2T% {c 31% id) 43%

A trader marked his goods at 20% above the cost price. He sold half the stock at the
marked price, one quarter at a discount of 20% on the marked price and the rest at

a discount of 40% on the marked price. His total gain is : (8.8.C. 2004)
La) 2% (b 4.0% (¢} 13 5% id] 15%

A product when sold with 10% rebate on the listed price gave a profit of Rs. 70. What
was its cost price 7 (Bank F0. 20035)
{a) Rs. 200 b} Rs. 350 (£) Re. 700

id} Cannot be determined e} Nome of these

The labelled price of a cupboard is Rs. 6500. The shopkeeper sold it by giving 5%
diseount on the labelled price and earped a profit of 15%, What approximately is the
cost price of the cupboard ? (Bank PO. 1999)
(o) Rz 5000 (& Re. 5350 ich Rz, 5600 (d) Ra 5800 (el Bs. G000

Kunal bought a suitease with 18% dizcount on the labelled price. He sold the suitcase
for Bz, 2880 with 20% profit on the labelled prics. At what price did ke buy the
suitease? , LBB.LEO. 1887)
{a) Re. 2040 (B! Rz 2400 {¢) Rs. 2604 (d) Hs. 2640 (e} None of these
A shopkeeper sells & badminton racket, whose marked price is Rs. 30, at a diseount
of 15% and gives o shutile cock eosting Ra. 1.50 free with each racket. Even then he
makes a profit of 20%. His cost price per rocket is ; (5.5.C. 2004)
(a] Re. 18.75 {by Hs. 20 (ch B 21 (i Re 271.25

If & commission of 10% is given on the written price of an article, the gain is 20%.
If the commission is increased to 20%,; the gain is ;
(a) 62% REL feh 124% i 131%

3 4+ - 3

A shopkeeper sold a T.V. set for Re. 17,940 with a dissount of 8% and earned a profit
of 19.6%. What weuld have been the percentage of profit earned if no discount was
offered ¥ [(Bank EO. 2003)
(a) 24 8% (b} 2R% (o) 36.4%

{d} Cannot be detcrmined (¢ Mone of these

A shepkeoper sells 25 articles at Rs. 45 per article after giving 10% discount and earns
50% profit. If the discount is not given, the profit gained is : (8.B.I.PO. 2000)
{a) 60% (b) ﬁ-u%-x. (c) 66% d) 885% (o) Noneof these

A shopkeeper sold sarees at Rs. 265 each after giving 5% diseount on labelled price
Had he not given the discount, he would have earned a profit of 12% on the cost price.
What was the cost price of sach saree ¥ (8.B.1.FO. 199%)

[} Rs. 240 (b Rs. 260 {e) Ka. 28O
[d} Data inadeguate i) Mone of these
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156. Ewven after reducing the marked price of o transistor by Rs. 32, a shopkeeper makes

a profit of 15%. If the cost price be Fs. 320, what percentage of profit would he have
made i be had sold the transistor at the marked price 7

(a) 10% b 20% (el 25% {d) None of these

157. A shopkeeper sold an article offering a discount of 5% and earned a profit of 23.5%.
What would have been the percentage of profit earned if no dizeount was offered 7
{a) 24.5 (b 28.5 (c) 30
{d} Data inadequate (el None of these {(Bank PO. 2002)
158. Komal buys an article at a discount of 25%. At what percentage above the cest price
ghould he eell it to make a profil of 25% over the original list price 7
{a) To (b 30 {ch 40 id} 66.67
158. Peter bought an item at 20% discount on its original price. He sold it with 40%
increase on the price he bought it. The new sale price is by what percent more than
the eriginal price 7 {(Bank BO. 2008)
[a) 7.5 by 8 {cl 10 {dh 12 (e Mone of these
160. Tarun got 30% conceesion on the labelled price of an article and =old it for Hs. 8750
with 25% profit on the price he bought. What was the labelled price 7
(a) Rs. 10,000 {b) Rs. 12,000 (e} R, 16,000
(d) Data inadequate (&) Mone of these
__________ 1 i BRSRAT R  Ee , C. LI  T.C  T S
ANSWERS
Lid 2 id R 4 B b B8 7. (& B (&) 9 g
100 ep 1L e 12 (g 13 (b 14 (2 15 (&) 1B (ch 17 (B} 1B (&
18 (b) 20. (8 21 (c) 22 (o) 20. () 24. (B 25 (b 26. (¢ 2T (e
29. () 29.(b) B0.{c) Bl (a) 82.(a) 33. (b 34 () B35 (&0 368 (b
7. (b) B8 (b) 39.{a) 40.(d 4l (0 42 (0 43 (a) 44. (a) 45 (b
468. (c)] 47 (d) 48.{c) 49.(d) ©60.{(a) 51 (d) 52 () 53 (& BG4 (d
BB, (c) BB (b) 5T.4c) B8 (d) B9 () B0. (e) 6L (B) BL (b) 63 (b
64. (d) 66 (b) BB.(c) 67.(a) 68 (dh 69 (a) T0.(d 7L (& TZ (a)
T idh Th (@@ ThE.(d TE (& TT.{b TH (B} 79 (= BO. (B} Bl (M
BZ (dr B3 (a) B4. () BE (d) BB {(a) BT (a) 88 (d BO. (dy 90,k
9L (by B2 (a) 93.0al 9. (b O6.{b) BB (B) 07 (¢ ©8 (&) PO (0

100. {¢) 101 (<) 102. () 103. {d) 104, (¢} 106. (¢ 108. (c} 107. (B) 108, (b
108. {a) 110, {d) 111 ¢b) 112. (dh 113. {b) 114. (&) 115 (& 116 (e 11T (a),
118. ie) 119. {c) 120. (a) 121. (b} 122, (k) 123, (a) 124. (b} 128. (ah 128. {b)
127. (b 128. (b} 129, () 130. (a} 131. (by 132 (&) 133. (a) 134. (a) 135. (o)
138. (c) 1387. () 138. (a) 130. (b 140. (c) 141. (b) 142. (a) 143. () 144. (d)
145. (b} 148. (a) 147. (5) 148. (d) 148. (E) 150. (o) 16L. (b) 162. (a) 1563. (@
164, (d) 1565. (¢} 166. () 157. (d 158. (&) 158. (d) 160. (a)

L

2,

0.0
Cain® = (— 100 |1% = 1%.
ain et ]

(&) Profit® = |10 % 100 % = 472, (b} Profit® = [.E.“. w100 |% = 45%.
ad A ] alh



12,

13

14.

19
(e} Profit® = Lm

Clearly, (d) is the best transaction.

1
100 |'% = 47—,
B xa00]n - 473

lac A
Profit% = [— 104
) Hﬂ‘;

Creantitatove Apfihude

J

[oast C.F. = Rs (200 x &) = Re. 1600. Groatest 5P = Rs, (425°= B) =
Required profit = Rs. (3400 - 1600) = Rs. 1800
51216,

Profit = Hs. (260258 — 2080.42) = Hs
dngt [ 512.16 ﬂm*!* | [51915:1
208042 I

1

®* 10 % = 24.5% = 2%

/

CP. = Ra. (4700 + B00) = Rs. 5500; S.P. = s 5300

(300

Gain® = | 5200 ;

] IM]% = 5—%.
11

CP of 1 kg = Rs. [4201

0 |

.50

. 25
ﬂ EoE | -
#A1n [ E

3

xlﬂﬂ}ﬁ w =5 m -EE%.

| = Rs. 6. BP of 1 kg = Rs. 6.50.

CP. of 1 tay = Rm{%]:ﬁa.ﬂ.lﬁ.ﬂﬁj,w:haa_

1.75

Prafit® = |{-—'---*-: lﬂﬂJ'ii: = -?E% = 5.6%.
L3125 ]

{ 380 487
| 350 Rs.
CP of 1 orange = Hs. ll}lﬂ] Ra. 350. BP of 1 orange = I:I.LI
Oain®% = [uzn 1m}%=.1ﬂ%=14§-1~
SP = R5% of Ra. 1+m=u[-%nl4m] Rs. 1180.
120
CP for B = 120% of Hs. 400 = H:| -H][I]:Ru.-iﬂl].
110
CP for C = 110% of Bs. 480 = Re ﬂn“mj He 528

C.I‘—R.!-{E[HIIUEI+5EIM+Iﬂ)ﬂl-ﬂiﬂﬁﬂ.’ﬂ)l’mﬂh—ﬂﬂ

S.P. = 125% of Hs. B6000 = Rs,( xﬂﬁﬂﬂﬂ] Rs. 107500,

8P = Hs 100, gain = Rs, 1A,
CP = Ra. (100 = 15} = Rs. 85.

15 A0 1

Caln® = | 22 mnh - i
) \ 55 17

CP = |r - ¥ el H-f-l] H=. 46.410.
LT

[ 100

]

¢

CP = Rs [—'ﬂ- »3e] = R (1000 192] = Rs. 320,

122.50 ! L 1225
Profit = Re. (392 = 320) = Rs. 71.

1
% o= 48—T,
3

= Re. 3400,

Re 4.
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616 = 100

16. 110% of SP. = 616 = :-LP'.-H:-{ ==

]-hﬁﬂ.

0 :
CP = {—2 J-R-.auu.

) T ;|
18. Total investment = Re:.| 12025012501—%::12111—?2}
\

= Hs, (B9800 « 280 + 48 + T2) = Rs. 10000
SP of 120 reame = 108% of Rs. 10000 - Rs. 10800
10800
10
17. Investment = Re. (20 = B + 10} = Rs, 170, Receipt = Rs. (30 x 5 + 20 « 4) = Rs, 230,

S.F.[El‘i'l'.‘l.il'l'l.zﬂl'.[ ):Hs.ﬂlﬂ.

: Hid
Gain% = [ﬁ .-r'EIIH:]]'!- = 35.20% - 35.3%.

18. Let the C.P. be Rs. x Then, 20% of x « 1100 = %xr: 1100 = x = 5500.
= Ra, 5500, Expenditure on repairs = 10%.
Actual price = Hs [% xﬁﬁm] = Ha. 5000.
Expenditure an repairs = Re. (3500 — 5000) = K=, 500,

19. Total cost fmeurred = Me [% % 35 = (D5% of znm]]
L a4

- Ra. [{g: .H..H-T._IH]EHH:] = Ha 38000,
Loss to the manufacturer = Hs [38000 — (25 = 100001 = Ke 13000

Rl = &
M. CP - Bs !IEEH:I" _“,"::x -i:-l}\l = Rs. 612. Cain - Rs. (766 — 612) = Rs_ 153.
5 4

" 153
Qaind - (—--- HII % = 0%,
gia .

i
21 85 18700 = 118 : xor x = {Eﬂ’;;nﬁ’ - 25300.
!

Henee, 8P, = Hs 25300,

23 B0 :9 = 106: xor 5 - | 27I06]
\

O
Hence, &P por kg - Re. 11.51

2. C.P. - hkliﬂ}rﬁm] - R, GOO000.

= 1181

[1mu
&

Roquired loss® = % 100|% - ]E%ﬂ-.

24. P of 15t transistor = Ra [--—- xsqn] Tts. 704,

CP of 2nd transistor = Rs, %nm] = K=, 1004

!



27,

31

Sa, total C.F. =

il o
Cain (”
Let C.I" = Bs. x. Then, S.P = Ra—i."am_Ru_

Cain® = [;:

Rs. (700 + 10000 = Rs. 1700,
TMEP._MWH¢BWJ=RLIM.

10H0

b IW]

) xmn:]
4

E- "l-

dx [-I.T

1
%= 33-%,
333

e

Quantitative Aptitude

x
Ha. —.
3

L-E'lﬂ.P.:Rl:.d.l.T']'.mn.,ﬂ.P-ﬂnﬁx.ﬂ-ﬁn-Rﬂ.lﬁ:-lﬂ-Eﬂ.x

Gmﬁ:[

L

3 b4 lﬂﬂ]ft
d4x

= PG

Let CF. = Rs 5x and 8P = Rs. 7x Then, Gain = Rs. 2x
» Required ratio = 2x: S5x=2: 5.

Let CF = Rs. x. Then, 3P = A& {120% of =) = Re. !iii

New 8F. =

E=. [E.IE} RLE Profit = -[1

AL
E =

5

Prafit® = [—x—xlwl] = 140%,
b x

Let CP be Rs xand 5P be Rs y Then, 3 (y =% = (Zy-3 = y=2x
Profit = Bs. {F=x¥ = Hs. (Z2x=-x = Rs. x

Profit% = [Eu mu)ns - 100%.

&£

Let 5P = Re. x New S5F = He E-,T.m.-l.::i-ﬂ%.

Sa, CP = Hu[“’” ‘] m—r:uﬁ; H:u[ ?]-m—-.

L

Pmﬁm:[zrx : a-:lﬂl])i:iﬂ%.
7 B
40
EP-—HEF‘ = EP*—EF'
. Let the C.P be Be. x Then, x—iﬁ:ig = :-%-15
CP - Rs. 18

1 ]
S8R = C.P. + E-IZ:.P. = IE.I'.

5

?E.F. =fls = CF=

Loz = {

e

10

. Let SP. = Rs. x Then, Loss = Ba. %- G.P.-R&(:-r

—hiulﬂ-ﬂ
d dx

1
= B—1F.
11

}«,m

= — m 15

lF
- HE, —.

5

ir
7

fix

18

X
Z| = Rs.
3

=
=3

[%xll}ﬂl]ﬁ of C.P. = 250% of C.P.

= r = I8

. Let 8P, = Rs, 100. Then, Loss = Rs, 10, C.P. = Rs. (100 + 10} = Rs. 110
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36. Let CF = Rs. 100, Then, Profit = Hs. 320, SP = Rs. 420.
New C.P = 125% of Rz. 100 = Rz 125; New 3P = Rs. 490
Prafit = Rs. (420 — 125) = Rs. 205

Bequired percentage = % lw]i—-%-lﬁ—ﬁ T0'%,
37. Let CP = Rs. x Then, 832 = ¥ = ¥'= 448 = Zyr = 1980 = x = G40

16

Required 5. = 150% of Rs. 640 = Ri.[lm ﬁi.-l]] Rs. M0,

8. Let CP =Hs. x Then, 900 — x = 2 (x = 450) =+ Sx= 1500 =+ x= GOO.
Required S.P. = 125% of Rs. 600 = Rs. f‘“‘ 600 = Rs. 750.
i

9. Let C.P. be Ra x

1920 - x x—1280
kS

Then, ® 100 = «100 = 1920 -x = x - 1280

= 2x=3200 = x= 1600

Required 8F = 126% of Fs. 1600 = Rs [EJEH lﬁﬂlﬂ Fa. 200

100
40. Let CP be Rs x

Then, (1080 - =) = :ﬂt:-um; = 106000 - 100z = 120 - 120 = 650
= 290x = 220000 = x = 1000,
Desired S.B = Hs. [%nmnl-m 1200,
41, Let C.F. of cach pon be Be 1. Then, CP of 8 pens = Ra. B; S.P. of B pens = Rs. 12,
Gain® = (; . mn;]* - 50%.

42, Lot C.F. of each artiele be Ke 1.
Then, C.I* of 16 articlae = Re. 18; SP of 16 articles = Bz, 10,

Grin® = [E :-I:]Dﬂ']ﬁl = lﬁgﬁﬁ-
18 4
#3. Let C.P of emch article e He. 1.
Then, CP of 50 articles = Rs. 50; 5.F of 50 articles = Re. 40.

Loz = IlE'.w:J.l:HJJ'IE- 2%,
i 50
d4. Let C.P of each mango be Re 1.

CF of 110 mangoes = Rs. 110; SP. of 110 mangees = Rs. 120.
Gain® = [ .y lm}‘.ﬁ = 9l
110 ! 11

45. Let CP of each article be Re. 1. CP of x articles = Rs. £ 5P of x articles = Rs 20,
Profit = Hs, {3 = x)

20 -
“%100 = 25 = 2000-100x = 28r = 120y = 2000 = ¥ = 18

x
46. Clearly, the retailer gets 1 dozen cut of 6 dozens free,

Equivalent discount = [% HLWE% = 15%—'1-.
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47,

al.

Quantitalive Aptitude

[S.F.nflﬂmta}—IﬂP.uflﬂmu-}zlﬂ,ﬂnfﬂmu}
= C.F of 21 cota = 5P of 18 cots = Ra. 168800

rﬁam}
21

= Ef.nf'lmlnﬁ.q.[ = Rs. 800

(SF of 12 notebooks) - (CP of 12 notebooks) = (S.P of 4 not®books)
= CP of 12 notebooks = 5P of 5 notebooks.
Let CF of each notebock be Re. 1
Then, C.F of 8§ notebooks = Rx 8; 5P of 8 notebooks = Hs 12,
Gain = [%nm"% = 50%.
i
(CF of 17 balls) = (SP of 17 ballz) = (C.F of 5 balls)
= CP of 12 balls = 57 of 17 balls = Rs 730

= COP of 1 ball - Rs (:E:,I Ra. &0,

[C.F. of 36 mangoes) = (S.P. of 36 mangoes) = Lass = (8P of 4 mangoes )
= 8P of 40 mangoes = C.F. of 36 mangoes.

Let C.P of ench mange be Re 1.

(T.F.uflﬂmmwl:']ls.ll}; EF of 40 mangoes = Ha. 36,

Losg® = I'E“u- . mu]tm . 10%,

CF = He. {16 % 2) = 32 B = g, (12 % 1.5 + 4 = 0.5 = Ra. (18 + 2) = Ha. 20
Loss% = III.]:2 KI{IU}'} = AT.5%
A8 )

¥ "
CF. of 1 apple = R&[%]=Hs.-!.!ﬁ. S of 1 apple = Rs. glrl{u. 4.75.

Profit on each apple - Re. 0.50.

45
i = = £
Mumber of apples required [ﬂﬁﬂ;

. Suppose, number of oranges bought = LC.M. of 9 and and 10 = 0

i
C.P. of 90 oranges - Hs [%KH‘UJ = He, 226

5F of 90 oranges = Ra, r-ﬂiww] = Re, 250.

25 1100
P a
rufil % [221

:-:ll}l,:l}ﬂr = --—-'Tr =11— ﬂn.

Suppose, number of articles bought = L.C M. of 6 and 5 = 30,

C.P. of 30 articles = Rs. [gnm] = Re. 25. S of 30 articles = Rs. [Euau] = Ra. 35
)

Gain®d = [—'-! lﬂﬂ % = 41%.
Suppose, number of Frum bought = L.CM, of 16 and 8 = 16,
C.F of 16 fruits = Rs, 24. 5P of 16 fruits = REI.|1§3:131+]{B. a6,

Profit® —.[-l-ifamuH - BO%.
)



Profit and Loss 275

6. Suppese, number of pencils bought = L.OCM. of 7 and & = 58
C.F. of 56 pencils = Rs. ilgh ﬁﬂ] = Ra TZ. 8.P of 56 pencils = Rs. [-IE—IEE-E} = Rs. 77,
L

Now, Hs. 5 are gained on 56 pencils,
i'e

So, Hs. 10 aro gained on lf:-clﬂl] = 112 poncils.
57. Suppese he bought 1 doszen clips of each kind.
a
CF of 2 dossos.» m|ﬂlx12+%x12]vm.m

5P of 2 dozens - 120% of Re. 10 = Hﬂ-[lm

l:I"-I'-'-rln:l'ﬂ'] = Ha 12

Hence, S.P. por dozen = R G,
58, Suppoee he buys § epgs of each kind
£

1
Gl of 12 epps = M.I;IET;’HEJ = Rs, 7. S.Epflﬂe;‘p:Ri.[-Ex]E]t Es. 7.20.
1 i

i 5
Cain = [ﬂ =100 /% = z-"':-ﬂe_
7 A T

B9. C.I' of 2 dozen oranges = Rs. (10 + &) = Rs. 18, &P of 2 dozen oramges = Rs, 22,
If prefit is Rs, 4, oranges hought = 2 dozen.

¥ \
If profit is He. 120, cranges bought = | f 4 1213] dozens = 60 dozens,
L

60. C.F.nfﬁtllrfr:es:H:.l.ﬁﬁurﬁmifeet-liﬂ%ufﬂa.iw}la.

For Fie. 2, 1affies o0l = 6. 1 boffiin i [Exg

L4

B1. Lt E.anlﬂmrruuubtﬂu‘xﬁ:u,ﬁﬂﬂ:]‘m::nr I

For Rs. g. toffers sold = 12, For Re. 1, teffeet sold = 12

].5.

120 = m] G
80

82, Let S of d5 lemons be He. x Then, 80 : 40 - 120 : x or ;—:[

For Rs. 80, lemons eold = 45. For Rs. 24, lemons =old = {% :MJ = 18

62. C.F of 55 kg rice = Rs, (26 = 20 + 30 = 36) = Rs. (520 + 1080) = Ra. 1600,
S.P of 56 kg rice = Rs. (56 x 30) = Re. 1680,

N
Ga.in=[ E“-{jmJ‘s - 5%
1600

B4, CP. of 50 kg wheat = Re. (20 = 11.50 + 20 = 14.26) = Rs. (345 + 285) = Rs. &30,

Y
&1 of 50 kg wheat = 130% of Re. 630 = Rs.{%xmj = Rs. 818,

619

8P per kg = Rs. [;ﬂ ] = Re. 1638 = Ra. 16.90,



Cuantitative Aplitude

85. Let the required price per kg be Hs. x Then,

.

C.P of 60 kg rice = Hs. (30 = L7.50 + 30 x o = Rs, (525 + 30x.
EF. of 60 kg rice = Re (60 = 18600 = Ha. 1116,
1116 - (525 + 30x) 691 - 30x s

1
x - el e,
535 + 30x sabatn B T Tt

e 2955 = 150x = 525 + 30x o 150x = 2430 = xn[ﬂJz[ﬂ'L-mﬁﬂ.
180 .ﬂ}
Bo, the C.F. of second lot is Rs. 13.50 per kg
Suppose he bought 2 kg, 4 kg and 3 kg of the three varieties.
CP ol kg =Hs (2 x50+ 4 x 20+ 38 =30 = Hs, 2T
EFP of 9 kg = Re (9 = 33) = Rs. 207.
Pmﬁtﬁ-—[ﬁ%;lm;%:lﬂ%.

. 100 G4
Mean cost price = Ke (I?ﬁjxa] He. L
By the rule of alligation :
C.P. of 1 litre water C.P of 1 litre milk
i} G.40
ww‘nj/
B4
,—// 11 \\\

&4
110 1

1 ; Lo S
Required ratio T AT 1: 10

Let the cost of the other brand be Hs. x per g
P oof 5 kg = Ra (2 = 200 ¢ 3 = x) = Rs, (400 + 3x).
SP of 6 kg = Ra {6 x 177} = Re. KAG.

885 - (400 + 3x) 485 - B 2]

m:ﬂ- 1
T g et iyl T TRy,

= 24250 — 150x = 3600 + 2Tx = 177x = 20650 r-[—jillﬁ-.

Bo, cosl of the oiher brand = Hs 116.66.
Buppose, he muast produce x ilems Then, C. = Ra {40x + 300), BP. = Ra. 80x
Bz = (40x + 300) = 1000 or 20x = 4000 or x = 200,

; 10 L
Cain'% = [—ﬂlﬂﬂ]*b = 11="%.
20 8

2440 3
Profit® = | S0 x 100 |% = 25%.
[Hm“ )
18 W00 300
Lat = x gms. Then, ——— « 100 = B e = =
WA ™ 1000-z 3 1000~z . 47

= 47x= 3 (10 - 3 = Hix=3000 = x= 6.
Weight used = (1000 - &0) = 840 gms.
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73, Rule : Gain% = (100 + common gain% ) 100,

100
Gain% = [%-uﬂ]'ﬁ 5 [%}* = D1%.

74. Let us consider a packet of rice marked 1 kg
Its actual weight is 50% of 1000 gm = 800 gm.
Let C.F of each gm be Rie 1. Then, CP of this packet = Re BO0.
110

E.F. of thiz packet = 110% of C.P. of 1 kg = Ha. [Iﬁnmnn]- E=. 1100,

? 300
Gaine = | — x 100 |% = 3T.5%.
: [Hnﬂ J

6. Suppose he has 100 items, Lat C.F of each item be Re. 1.
Total cost = Rs. 100. Number of items left after theft = 80,
S P of each item = Rs. 1.10.
Total sale = Re, (1.10 x 807 = Rs. BB

Henee, Loss% = [%xlm)ﬁ = 3%,

125 120 2
T8 125% of 120¢% of A = 225 = ﬁﬁﬁﬂﬁ—ﬂﬁ d ﬁ—[ﬂ-ﬁ'ﬂ!EJ—lﬁﬂ‘-
T7. 110% of 90% of 120% of A = 1188
110 80 120 1188
ﬁxﬁxﬁﬂnjlﬂﬁ =% ﬁﬂ.lllﬂ = A = 100.

A purchased it for Hs. (1000 — 110} = Ks. 590,
78. Money spent by X = Rs. 150000,
Money received by X = 106% of Rs. 150000 = Rs. 157500,
C.P ta X = 08% of Rs, 157500 = Bs 154350
X guins Rs. (157600 - 15435600 = Ra 3150
T8. Lat the cost price for the manufaciurer be Hs x
Then, 125% of 1205 of 118% of x = 30.09.
125 120 118 3009 _ 177 3008 _ 1-[
100 100 100 LOH 104 1o
80. Let C.P = Re. x, Profit® - 2% and 5P = Rs, 144.

308
= 17
)

;=[ I :«:lﬂy = £° +100x = 14400 = &2 + 100x - 14400 = 0

(100 + x)
= 4 180r — B0x — 14400 =0 = (x+ 180)ix=B80)=0 = x= 80O
31. l.aLS_EheR:..t'Im.ﬂ.P.lRl--:%.t,hﬂiptlllﬂnfﬂs.x-h ﬁx.
L [28z 13x 19x
Gmn—R:.kEs 1EJ R""‘.r_u.'

. 19z 15 380 3
Gain% = I:-Exﬁx !ﬂl]l}‘l- = H‘jﬁ = ﬂﬂﬁ'ﬁ_



B7.

gl

8 8

Quantitative Aptiude

Let the article be weorth Hs. x

Gr 11
CP. = 90% of Rs. x = Rs. 7= SF = 110% of Rs. x = H“T:'

in = Ra [LEE_ =
Cimim =

11x EE]_H. x
, 10 10

Craing = [:x;z.ﬂm]q: - 22:*1 > %,

Lat original price - Re. 100.
Then CP = s, 90, .8 = 130% of Rs. 50 = m“gﬁam]-mur_

Roequired percentage = (117 = 100}/% = 175
X

Let CP. be Rs. x Then, 0% of X = (350 = 340} = 10 = E_m = x = 200,

&

lLet C.P be Rs. x Then, 2% of x = (400 — 380) = 20 = Etﬂﬂ =oor w1000

Let CF be Rs, x Thén, —z-—x =16 = — =i = z =15

Let C.P. be Rs, & Then, (106% of x)- [51%11 of :] = 5180

HLE0 =100 2

1
w A= of £ = 5180 = %=
g [ av

]IE-EU'.
Let the CP be Rs. x

! i}
T'htmﬂ-F.=IElHﬂR&==Rﬁ.[:HE =Rﬂu¥
100 | o
%—r:ﬂ!ﬂ = r = 1200
E.F.:R.l.[%::ﬂﬂﬂ}: R, 1300,

Lot C.P be Bs. x Then,
1072

ke
Desired 5.1 = IIEl'l-ﬂin. 1000 = H&.[EKLKIGW‘]‘RB 1125
z 100

Y Y
‘.Eni‘.t;—[ﬁ'u%ﬁufriwmﬂ = 1 of x =100 = =z = 1000
A

2 il ’ 104% of x 104 &2
Let C.F. of the article be Rs. x Then, Required ratio = e o

106 53
Common Loss and Gain | 127" 6 11
Loss% = % x| %o Tl
[ 0 ] [m,r 5 5

2
Loss® = [Tﬁﬁ} % = (0.5°% = 0.26%,

Total 5.F. = Ra. B000 and Total C.F. = Re. B000.
5.1 of 1st commodity = Ha 4000. Gain on it = 25%.

y
CP of 1st commedity = Hn.!%ximﬂ] = Ha, 3300
k

62 :

6.
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C.P of Znd commodily = Re. (B000 — 3200} = Hs 4800,
LB of Znd commuedity = Rs. 4000,

: 8OO ] 2
g % = 165,
Loss on Znd commedity [4 Elﬂﬂ] 1 3‘!:
84. Total SP. = Rs, 2 lakh.

mam-m[‘;’; I]Ja]ﬂa:?ta.%lal-rh.

100 L]
CP. of shop = R [Eﬁ“] lakh = Be. © lakh

mnc.aa-na.[: :]I:th Hs. Enml

ikt m(—-z] Lokl & m— lakh,

85. Total C P = Ra. {120 = 110) = Ra. 'l.ﬂl'.l.l.
Total BP = Bs, K30 = 110 + 30 = 12) + {756 = 110 + 76 = 14} + (16 = 110 - 15 x TH
= Rs. 14505

Ao ool o T [1-:505 13200 1305

- = Ra, —— = Ra. 10.875.
120 I 120
85, Total profit reeuiired = Ha (42 = 18] = Ra. THA.
Profit on 22 sarees = Rs (460 + 144) = Rs. 604,
Profit on 20 sarmes = Re, (7656 = fd) = Ra, 152

Average profil on these sarees = Hs, |-152] = Rs. T.80.

8T. CP of 20 doren = Rs. (46 x 200 = Rs S0,
C.E of 8 dozen = He (48 = B) = He 384
CP of 12 dopen = Hs. (960 — 384} = Rs 5TH.

110 1240
= 4 = 3 BT . JaRl,
Total BP [ID'D 384 + 100 '55] H=, 111360

Fruﬁt'l--lf

153.60
mu}m < 16%.
360

b

88. CP of 'I:h Rz, [ MI.DEI] Re. 300, CP. of %th = Re. 100,

‘T-ul'tu.lE_P.r{W}nfRu.ﬂmlllﬂ'E&fﬁﬁ.ll}l:l'!--RE.ﬁﬂﬂ
B0
Loss = | —— » 100 |% = 5%
[qu ]
2 b1 1 4
89. Lt CP af whole be Re = E-F.nfgrd= HE'E'C'F' o —'rd = Rz, —

TuulE.P.-Ru.[[lm-uE ﬂ] {114 of ]—lh [ii+%} Re. 22

Gain = Rs. [E -:] = Rs. ?_x
1] o

Ouin® = (-""" x ] xlﬂﬂ]‘} - 18%,
0 x



100. Let CP. of whele be Rs. x. C.P. of & 5 stock = mﬂ EPut'%md:-En_f.

Tums.P.=H.-;.[[1muri]+[mmri]+i]=m.[E+£+£}: 2Le
2 4 4 o & 4

¥ 21ix X
Cain = Re, | — - = =
in {2':|I ;;} Rs

5
101. Let C.P. of each clock be Rs. x. Then, C.P of 90 cocks = Ra. 80x
[(110% of 40x) + (120% of 50x)| - (115% of 90x) = 40
= d4dx+ 6lx - 10352 =40 = OHx=40 = x= B
102, Lot the investments be 3x and 5x Then, total investment = Sx
Total receipt = (115% of 3x + 90% of Bx) = (3.48x + 4.5x) = TH5x

Loss = (%nﬂ]}% 0.6825%.
103. Let the required gain percent be x%.
Then, (1104% of 3000} + {100 + x% of 3000] = 125% of G000

110 ). (100 + x) 125

[lmimjbl: o Mﬂﬂﬂﬂ} ﬁxﬁ‘d}ﬂﬂ
= 30 (100 + &) = 4200 = 100 + x = 140 =2 x = JD%.

104. Let the quantity sold at a loss be x kg and let C.F per kg be Re. 1.
Taotal C.P. = Rs. 24.

b
Gain® = {ix’—xm % - 5%
20 J

M&E:h.llmﬂfﬂl-ﬂ+ﬂﬁﬁ-iﬂ-—m.[§ " }4-_] Re. ﬁ"'ﬁﬁﬁ‘}
576 -8z T8 — By 284
T 110%: of 24 = 20 _ﬁ m 5TE -5 = 528
= fx=48 = x=9.6 kg
105. Let the tetal value be Rs, x Value of gm-m E;.".-’dmnf!rd-lh.%.
2y £ 210z | 98x J08x
Total S.P. = Rs []ﬂﬁﬁp:ﬂ'—J [ga-x..:.:_] 2 [ ] 308x
[ a)” 3)| = ™ |50 "300) "™ 300
208« Bx 400 = 200
o Ay 4m==_kT]-um
106. Lot CP of watch be Rs. x Then, C.P of wall clock = Hs. (390 — x).
10 15 515

(0% of x) + [N6% of (390 = x}] = B1LB0 = — wi+— o B —
[ ' T 10k e 10

= 1lx+ 5850 = 15x = G160 = fx=TH = x= 140,
3o, C.F. of waitch = Ra. 140, CF of wall clock = Rs, 250,
< Difference = Rs. (260 — 140) = K= 110.
107, Let C.P. of each horse be Rs. x and CP of esch cow be Bs y Then,

4x + 9y = 13400 D
And, 10% of 4x + 20% of 8y = 1880
- %x-ﬁ%y-liﬂﬂ- - r+0ymB400 . (i

Solving () and (i), we get : x = 2000 and y = 600.
Cost price of each horse = Ra. 2000,
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108. Let C.F of dock A be Re. x and that of dock B be Be (650 — xi. Then.
120% of x = T5% of (660 - X)) = EEEI—:=E‘—]~:IE:
T 0
=k E.'r_'-BEﬂ =% .1:-['55'3”'&5‘i
a 13
CP of A= Rs 250, OF of B = Rs 400
109. Let the CP af the watches be He ¥ and Re (840 — x).
(116% of ¥ + [BET of (540 — x| = B40D
= 116x + T3920) = Bx = 34000 = 28x - 1008 = x - 360
Their cost prices are Bz, 360 and Ra. 480,
110, Lot C.P of the chair be Rz, x and that of the table be Rs. »
Then, 17" of F= TR ol x= 2068 = 1TF= Tx = 29600 A8
And, 12% of p+ TR of x= 400 = 12y + Tx = 40000 aul IR}
Solving (i) and (i), we got @ y = 2400 and x = 1600,
C.E of table = Ha 2404,

= B50.

e (165 1
111 5P = BTE{E of Rs 650 = Hs. g ™ EHEE-D] = Hs. 633.75.
112. M.P. = Rs. 272000.
Discount = Hs. [(4% of 200000) + (2.5% of T2000)] = Rs. (8000 + 1B00) = Rs. S800.
Actual price = Rs. (272000 - 93000 = Rs, 262200,
o0 BO

113. C.F = 90k of B0% of Rs. 1400 = Es [ﬁx 100 xH[H]] = He. 1005,

12 \
114. Hate of discount = [a—dxlﬂﬂ'}‘k = 19%.

( 3740

= Ha. 1E.70.
e ali

116. 5P of each arlicle = Ra.

Let M.F. be Ra.

LE.T0 = 10N}

= 2d
B3 ]

Then, B5% of x = 1870 = .:=[

1168. Let the laballed price be Rs. x

T = 100 = WO

EE'I-HE[FLH::TNH:-( 5% 8D

J_ 1000,

[
117. 5P after lst dizeount = He. 0 M 15D[IJ = Ra. 12060

100
MNei 5P = Hs. 1104. Diseount on Hz. 1200 = Rz 98,

y ; D&
Hequired diseount = [lﬂﬂl}

b !m]‘i = S,

e

118. Let the costs of the two articles be x and y Then, 15% of x= 20% of ¥ = © = f"; "
¥

&0, x and ¥ must be in the ratic of 4 : 3.
119. Let the list price be s, x
24 » 100

-3 ﬂx-“:&:- = .

pLili
Required 8F. = T0% of Rs. 30 = Rs, 21.



120,

121,

122

E

8 5

-127.

128,

130.

131.

Quantitative Apfituda

Lﬂlhtll':lpr:'mhnﬂn..a’.

" 100 - x 100y
100 = )% of = = ¥y = | e
L I ¥ = | =160 ] =y = I ['IDEI- IJ_

Lat the labelled price be Bs, x Then,

i i1

(80% of x) — (T5% of X) = 500 = 5% of x= 500 = ,.-E”E%?E|-1nﬂm.
K il

Let marked price be Re. 100.

Then, Final SP. = T0% of 80% of He 100 =Hn.[].?£ix%xmn‘|-m h&,

Bangle discount = (100 - 561% = dd4%.
Let marked price be Rs. 100,

Then, 8P = 85% of 88% of 80% of Rs. 100 - Ri[u_:. —--nx-—axlﬂDJ Rs. §7.39.

Single discount = (100 — 67.320% = 37.68%.

a0 &80
EP = 50% of B0% -Hu.(—n—n ]— . 2
of Rz 2000 o 2000 | = Rs. 1440
85 95
8P = 2% ; = Hs, el = Hg. ;
of B5% of Rs, 30 ﬁ[m‘ﬂlmxBﬂJ Hs. 72.20
Actual price = 95% of 90% of 85% of Re. 12000
{%:ﬂ ]E:Ex E{i:ﬁ]ﬂﬂljfnlﬁ- BTEL.
Let the original price be Rs. x Then,
i
85% of B8% of x = 209 = x = m*‘_"}“”}?‘?]._m.
| B3 = B8

SP in 15t cage = B0% of He, 100000 = Hs S0O000,
5P in Ind case = 96% of 64% of s 100040

%
= Rs. =L mnnﬂum\l Rs. 61440,

< Difference = Ra. (A1440 = 600000 = Rs. 1440,
Let the amount of the bill be Bs. x Then,

G4 Hi) By
(G5% of x) = - O e B a
(8 of B0% of x) = 22 = []mf:] [iﬂﬂ'xlmxr s
8B £ L |

= lﬂ'[l: mn:_H:&!m—EEs:_HﬂD.
Gy Ll

BP in 1st case = 4% of T0% of Rs. TO0 = m(ﬁxEme] =, 460,80,
I"EI-'I &0

&P in 2nd case - 84% of 80% of Rs 700 = —— = T | = Rs, 470.40.
Um 10

s Differenee = Re (47040 — 460600 = Be D80
Let the second discount rate be x%. Then,
(100 = x1% of 80% of 720 = 550,80
(100 - x} ﬂ
lﬂ'ﬂ mu
Second dizcount rate = 15%.

[ ¥
% T20 = BOOB0 == um-:r-.[ﬂ“} =85 = rw=ilhi
| 9% T2



Prafit and Loss
132. Cost of each calculator = Rs, [ﬁ+%} = Rs, ‘Eﬁ-ﬁ%.
85 )
5P of cach caleculator = Ha. 180 ) .“.'EEI'J- = Ra. 304.

133,

134.

136.

136.

137.

138,

140,

141,

Profil® = [%xﬁ%ﬂm]m - 4%,

Let CP be RBs, 100, Then, marked price = Re 125,
SP. « 84% of Rs. 125 = Rs. [%ﬂzs] - Rs. 108,

s Profith = (105 - 1001% = 5%.
Let CF. be Rs. 100. Then, marked price = R 130.

8P = [lﬂﬂ-— %E]"ﬁ- af Rs. 130 = Rs %r]ﬂn‘l = Ra. 121875

b ks 4

91875 7
Profit® = (121876 - 100)% = ZLBT6% = —o 2o w 21 8.
= 1000 "

Let the criginal price be Hs. 100, Then, marked price = Rs. 130,

80 o
Final price — #0% of 90% of Rs. 120 =Rk{—t—213ﬂ]tﬂs. 10530,

100 100
Increase in price = (10630 - 100)% = 5.3%,
Let the marked priee of each article be He, 1.
Then, C.P. of 30 = K= 27, 8P of 30 = Hs 30.

Cain% = ¢ w100 (% = 1111.
&y )

Marked price = Ra. 300. CP. = h[%xﬁ}ﬂj-hiﬁﬂ.

Sale price = 80% of Rs. 300 = Ra. 270.
. " 20 |
Required gain® = | oo xmu}*xf = B%.

b
Let marked price = Rs. 100, Then, C.P. = Rs, 84. 5.P = Rs. 35,
Cain% = [Exlﬂﬂ]‘l = 37 5%.
G4

Let the marked price be Rz, x Then, 108% of 0% of x = 65040

108 80 BEE0 = 100 |
—— N —T = = | — = . T
1mx1m.:: GEDAD = =x [ 06750 Hs. 700
let CP = Rs, 100, Then, 5P = Rs, 120,
1860 = 1060 ]
Let marked prce be Rs, 3 Then, 50% of x = 120 = :-[ ;ﬂ J;-I.‘-]:i
Marked price = m%rs- above CP.
125
CP = Fs 1200, 8P = 125% of He 1200 = H.F.I'E:l:]?ﬂl'-l]=ﬁ.ﬁ. 1504,
L%
L.
Lt marked price be Rs. x Then, 80% of x = 1600 = I=[%lqg]—ﬂ?&

Marked price = Bs. 1875,
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142, Let coptl price boe Ha 100, The 8P = Rs, 119,
L&t printed price be Rz, x

90% of x = 112 = 1=Et—'3—“ﬂ]amﬁ.
50 9
1120

H-l:quirﬂdralll}zlﬂﬂ:Trm;llmrqﬁ:l‘pE_

143, Lot cost price = Rs, 100. Then,

%nf[h'lsrkedl-"ri:z:l='.l'5 = Hﬂhd?ﬁet-m[

Required ratio = %:Iﬂﬂ::‘.?ﬁ:'ﬁm;m:ﬂ_
144. Let the CF of cach article be Ra 100,
Then, C.P. of 16 articles = Re (100 = 16) = K= 1600,
LY
8.P. of 15 articles = R, [mwx%f = Re. 2160.
!

S.P.ﬁfﬂﬂdilﬂiﬂﬂ‘-ﬂﬂ.%i-nﬁ. 134,

If 5P is Rs. 96, marked price = R=z. 100
[ 10

If $.P. is Rs. 144, marked pries - Rs. [ 1 xm] - Rs. 150,

Marked price = 50% above O.P
145. Let CP = s 100. Then, Marked FPrice = Hs. 110, SF = Re. 99,
Discount% w [iuuu]i - 10%,
110 J B S
146. Let CT. = Rs. 100, Then, Marked Price = Re. 135, 5P = Re. 108

27
| - - 1 T =
Thseount % [IEEK W] 20F%.
147. Lot C.P. of whole stock = R 100, Then, Marked Price of whole stock = Rs. 120,
M.P.ﬁ%mk:h.ﬂﬂ, M.F.ﬂ%mm:m.an.

Tetal S.P. = Rs. [60 + (80% of 30) + (B0% of 30)] = R=. (80 + 24 + 18) - R 102.
Hence, gain% = (102 = 100)% = 99,
148, Bince the marked price is not given, so the cost price cannol be determined.

149. SF = 95% of Rs. 6500 = m.[ﬂuﬁm] - Re. 6175.

, 100
Profit = 15%.
C.P. = Rs. [”':= . ans] = Rs. 5369.56 = Ke. 5350,
115
160. Let the labelled price be Rs. x Then, 120 of x= 2680 = ¥ = [.M.];h.lﬂ] - 2400,

C.P. = B5% of Rs, 2400 ='H:..{f§}x‘2-{ﬂﬂ] = Rs. 2040,
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151, Marked price = Ra. 30, 8P, = Ra. {f% :MJ—I.EEI] = R=. (25.50 =1.50) = K5 24

24 x 1007 - Ra. 200
120 |

L

Let C.P. be Rs, x Then, 120% of x = 24 = ;;[

152. Let the marked price be Rz 100.

Then, SP. = Rs. [%HIU{}] - Re. 90. Gain - 20%.
100
CP = Re [ﬁxﬂﬂ] = Rs. 75.
Meow commizsion = Bs. 20; Mew 3P = Rs. BO.
Hew Profit = [ixlme -
5 3
163, SF = Bs 17940, Let marked price be Rz x

Thens, — oz = JTRAD e ::m_[1m:l@}= Ra. 19600,
100 a2

1195 J
Mow C.P = Ra. 15000, &F. = Ra. 15500

Required profith = [;’E;J

154. SP of 1 article = Rs. 45, Lot marked price of each article be Ra. x

h_i’ﬂf_‘}‘m_ 50.
i, B

C.P. = Rs. [ LBt |T9-m], = Rs. [i?:'; < 17940| = Rs. 15000,

* lﬂﬂ]‘h = B0

o0
s Pipe 45 = e
" 100

P =B [ 2% a5] = Ra. 30,
150

MNow, CP. = Rs. 30, 8P = Re G0
Required profit% = (%:lﬂﬂ]ﬁ- = -EE:—E;"#.
165. S.P of 1 saree = Rs. 266. Let the labelled price of each saree be He x

1
Then, %:-Eﬁﬂ- L ““"{w;"hm'

Mow BFP = Ee 280, Profit = 12%.
CP of 1 saree = Ha. [}EHE&]}- Ke. 260,
166. CP - Rs. 320, Profit = 16%.

SP = Bs. [%r:ﬂﬂ} = Rs, 968, Marked price = s (368 + 32) = Ra_ 400,
Required profit% = [3—:7'01 m]ﬁ- - 25%,

157. Let CP be Rs. 100. Then, 5P = Rs. 123.50.

Lat marked price be Rs. * Then, %x-lﬂmﬁﬂ Lo [!iﬂ].m. 150,

Now, SP. = Rs. 130, CP = Rs. 100.
Profitsh = 20%.
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1568, Let omganil [st price = Bs, 1040, Then, C.P = Ha. 75. Desired S P = Rs 125
r g Y

20 <100 % = 6867
w )

uired peroen =
e Liyge

158. Let the original price be Hs. 100. Then, C.F. = Re, 80,

SP - 140% of Ra. 80 = Rs. [ 2% < 50! - Rs 112,
|, 10 J

&  HRequired percentoge = (112 = 1000 = 12%,
Lo

1
1g0. C.P. = Ra [FE_EHRTEH; = Rs. 7000, Let the labelled price be Rz x

Then, -2 x = 7000 = x = Ra, [J000100)
100 A - YRy

= R 10000

(DATA SUFFICIENCY TYPE QUESTIONS)

1. A shopkeeper sells some tovs at Rs 250 each. What percent profil does he make 7

To find the answer, which of the fellowing informuation given in Statements I and 11
iz are necessary T

[, Number of toys sold, II. Cost price of each toy
i@l Only [ iz necessary, {B) Only II i& necessary.
il Both [ and I1 are necessary id) Either | or [l is neoeszary

i Nope of these
2. A shopkesper sells some articles at the profit of 25% on the original price. What is
tho exact amount of profit 7

Ta find the answer, which of the following information given in Statements | and 11
is { are necezgary 7

I. Sale price of the article. I1. Mumber of articles sald.
(&) Only 1 is necessary (&) Only 1l is necessary
{¢) Either | or Il is nocessary (d) Both 1 and 11 are necessary.

(el Mone of theso

Directions (Questions 3 to 13 : Each of the guestions given below consists of a
statement and/cr & question and twe statements numbered I and I given balew it. You
have to decide whether the data provided in the statement(s) is/are sufficient to
answer the question. Read both the statements and

Give answer (a) if the data in Statement I alone are sufficient to answer the
question, while the data in Statement IT alone are not sufficient to answer the question;

Give answer (b) if the dats in Statemont IT alone are sufficient to answer the
guestion, while the data in Statement I alone are not sufficient to answer the question;

Give answer (c) iff the data either in Statement [ or in Statement II alone are
sufficient to answer the guestion;

Give answer (d) if the data even in both Statements | and IT together are not
sufficient to answer the question;

Give answer () if the data in both Statements T and IT together are necessary to
answer the question.

3. By selling n product with 20% profit, how much profit was earned ?

. The difference between cost and selling price is Rs. 40.

Il. The selling priee iz 120 percent of the cost price. (5.B.1L.BO. 2003)
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4 What is the cost price of the article ?
1. The profit earned on the artiele i one-third of the cost price.
II. The article © sold for Rs. 400
5. What would have been the selling price per kg of rice? (Bank PO. 1949)
1. 50 kg of rice was purchased for Re 3350 and Re. 150 were spenl on transport.
[I. Profit earned waz 5%,
8. How much was the loss 7
I. The cost is Rs. 300.
[I. The bloss is 25% of the selling price.
7. A man mixes two types of rice (X and ¥ and sells the mixtere at the rate of Ra. 17
per kg. Find his profit percentage. [M.B.A. 2002)
1. The rate of X is Ke. 20 per kg,
I1. The rate of ¥ is He. 13 per kg.
8. What iz the percent profit carned by selling the produet 7 {Bank RO. 2003)
[. The profit carned was Ras. 50.
II. Had 1% been sold for Rs. 310, the profit would have been Rs, T0.
g, What is the cost price of the cassette 7

I. The percent profit made when the cassotte is sold for Hs, 78 is twice as much as
when it is sold for Hs. 69.

I1. If the price of the cassette is marked at 20% above the cost price and a discount
of 10% ie offered on the marked price, the seller gains &%.

10. What was the cost price of the suitease purchased by Richard 7 (Bank F.O. 2002)
I. Richard goit 20% concession on the labelled price.
[1. Richard seld the suitcase for Rs. 2000 with 25% profit on the labelled price
11. By selling a product for Rs. 100, how much profit was earned 7 (Bank PO 2002)
I. 20f% profit would have boen earned if it were zold for Rs. 90
II. The profit was one-third of the porchass price.
12. What iz the price of a banana 7
[. A man can buy 14 bananas and 35 oranges for Rs B84.
i[. With 50% discount on the price of bananas, Rs. 12 would buy 4 bananas and
5 granges.
13. How much profit did Anand make by selling a bed 7 (5.B.L.FD. 199E]
L He bought the bed with 40% discount an labelled price.
II. He sold it with 20% profit on the labelled price
Directions (Quesitions 14 to 20) : Each of the following questions consists of &
guestion followed by three statements I, IT and ITT. You have to study the guestion and
the statemeants and decide which of the statement®) is/are necessary to answer the
gueskicn,
14, Hew many articles were sold 7 (Bank PO, 2002)
I. Total profit earned was Rs. 1656,
1. Cost price per article was Rs. 632,
III. Selling prce per article wae Bz, T65.
(g} Any two of the three (b I and 11 anly
(¢} 11 and 111 only (e AllL 1, 1T @nd IT1
(¢} Guaestion cannot be anzwered even with the information in all the three statements
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16.

17.

19,

Cuantitative Apliteds

What was the amount of profit earned 7 {Bank PO. 2003)
I 10% discount was offered om the labelled price.
Il. Had there beon no discount, profit would have been 304%.
L. Selling price was mare than the cost price by 20%.
(] ALl 1, IT and III (8 Any two of the three
(el 11, and either [ or II dl I, and either IT or I[I
(el (Question cannot be answered even with the information in all the Lhres statements.
What was the cost price of the watch 7
L The shopkeoper labelled the price of the wateh 20% above the sosi price.
II. After allowing a discount of 15% on the labelled price, the shopkeeper charges
Rs. 408 for the walch.
L Had there been no discount, the shopkeeper would have carned 20% profit.
(a) I, and either 11 or [11 (b 1, and cither 1 or [11
(ch I, and either 1 or 11 {d) 1 and [T only
(el .ﬁ.ﬂ-}" twa of the throg
How much profit did Manick earn on the cost price of on article by selling it 7
L. He got 15% discount on the marked price at the time of purchoge.
Il. He =old it for Rs. 3060

IIl. He carned 2% profit on the marked price. (B.B.LPO. 2000
(@) 1 and 11 only (b} 11 and IIT only

(ch T only or 11 and ITT tagether il All I, I and I1I

(¢4 Even L, II amd I11 together are not sufficient to anawer the question.

By selling an article what is the profit percent gnined ? (B.B.LEO. 2002

I. &% diseount ig given on list price.
IT. If discount is not given, 20% profit is gained,
III. The cost price of the article is Hs. G000,
(&) Only [ and 11 (B} Omly I and IIT i€ Only 1 and I11
(al All 1, IT and [11 (el Nono of thess
An item easting Re. 3000 is sold at a certain discount. Find the rate of diseount nffiered.
L Tha profit earned afier discount is 5%,
II. Had the discount rate been doubled, the seller inrurs a loas of 156,
L. The item is marked at a price 25% above the cost price.

i) Only I and 11 (L) Oniy I and 111 (e} Only I and 111
() All I, IT and 101 el Any two of the three
What was the percentage of discount given 7 (R.B.1. 2003)

L 23.5% profit was earned by selling an almirah for Hs. 12350,
[L If there were no discount, the earned profit would have bean 30%.
L The cost price of the almirah was Rs. 10,000
(&) Only [ and 11 (B Only 1T and ITT (el Omnly 1 and TH
(d} Any two of the thrs (e Mone of these

Directions (Questions 21 to 22) : Each of these questions is followsd by three
statements. You have to study the question and alf the three statements given to decide
whether any information provided in the statements) is/are redundant and can be
dispensed with while answering the given guestion.

21

What is the percent profit earned by the shopkeeper on selling the articles in his shop ?
L. Labelled price of the articles sold was 130% of the cost price.

II. Cost price of each article was He. 550,

L. A discount of 10% on labelled price was offered (S.R.IP0 2001
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{a) Only I (b Only 1T
{e) Only II1 i{d) All the three are required
i¢l Question cannot be answered even with information in all the three statements
22 What is the marked price of the suitease 7
I. Whan a dizeount of 15% is offered, the profit earned is 10.0%.
I1. The cost price of the suitcase iz Rz 1500
1], The marked price is 30% above the cort price.

{a} I only {4 Either T or 111 ) Any ene of the threo
{dh All 1, IT and I are required {g) None of these
ANSWERS

L (b) 2. (d) 3. (8] 4. (& 5. (e 6 (= 7. (d) 8 (b
Pola) 10.(8 1L( 12 18 (d 14 (4 15 (& 16 (b
17. () 18. (a) 19. (8 20.0(e 21 (& 22 (h)

1. SFP = Re 250 each. To find gain percent, we must know the C.P. of cach.
Correct answer is (B,
8 Cain = 25% of CP
In erder to find gain, we mu=t know the sale price of each article and the number
of articles sold.

Correcl answer is (d)
3. (iain = 2%
1. Profit = (5.P) = (C.E} = Rs. 40.
Thus, | gives the answer. But, 1l dovs not give the answer
Correct answer is (ol

1
4. [ Gain = 3 (CF)

I1. 5F = Rs. 400
1 1
Gain = (8= (CF)] = 3 {C.P} = (Rs. 400) — (C.F) == [ '3] (C.F) = Rs. 400

= C.P. = Ra. [1003*%} = Rs, 300.

Thus, | and 1T both are needod to get the answer.
~  Correct answer 15 (2.
5. [.Mﬂuf&ﬂh:'ﬂi.{ﬂﬂ-ﬂ]*lﬁma]h.ﬂﬁm.

" 3500
= Ro. | ——| = Rs. T0.
CP of 1 kg : m,l

II. Gain = 6%.
105
SP of 1 kg = 105% of R, TO = RI[WHEJ = R=, T3.5(.
Thus, beth [ and 11 are md::diﬂgatﬂ'mmswnr

Correct answer 15 (g,
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6 L CP = Rs 300
II. Loss = 25% of 8.

Let 5P be Hs. x Then, loss = 25% of Rs. x = Ra. -:—
I+

Loss = (CP) - (8P) =

‘:3]‘3—.1':-[ ]:E'I:II]

de | H

) [3nnx~;— = 240,

Lass = 35% of Rs. 240 - Hs.flixma] - Rs. 60,

Thuz, 1 and Il are required to get the answer,
. Carrect angwor is (o)
7. The ratio in which X and ¥ are mixed, is not given.
S0, both I and 1T together cannct give the answer
& Correct answer is (d),
8. _II gives, S = Rs. 310 and gain = Ks, 70.
P = Rs. (310 - 700 - Rs. 240,

Cain% = [ﬂ ® :ﬂ{.lll"fl
L 240 J
Thus, I alone gives the answor
Clearly, I alone does not give Lthe answer.
= Correct answer is (bl
9. Let the C.P. be Rs. x Then,

L (78 - x)

: nitﬁl:Hn{ﬁE;;-]alﬂﬂ = TA=x=138=2x = x =80
Thus, I only gives the answer,

IL Let the CP. be Bs. x Then, M.P. = Ra. f."ﬂ“] =N %.
L] ;
8.P. = 80% of Re. X rug.[ﬁ;"x i | = Re. L
5 | & 100 25
&ix : s
Thus, 10&6% of x = = Thiz doss nol give x
Il diees not gave the answer
Correet answer 15 (al
10.  Let the labelled price be Hs. x
[ 80 dx
[{:P;Ewnfﬂl = R=a Il"-—'-]iR.l —_—
¥ T 5
i A
IL SF. - Ks. 2000, SP. = 135% of Rs, = = Rs. [Ex - B
wo "y 1

ar
T.I‘H“m -y — = 160,

f k]
CP = Rs "'f = Rs. | L1600 = Ra. 1280,

(1) i

Thus, T and IT together give the anewer
f Correct answer i= (o,
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1. &P = HKs 100,
I. When SP = Hs. 90, Gain = 20%.

& G = Ha. [lﬂrﬂﬂ] = Ra. 18
120

MNow, (C.P. = Re. 75 and SP = Rs. 100} = Profit = HKs. 25
Thus, | alene gives the answor

I Let the CF be Ra x Then, gain = Rs. %

2 dx
i P efale+E|sne =X,
[’ 3] 3
Thus, E_}ifmu - 4;[3“1m].vﬁmmn.ﬂ=m.m
i g

Thus, 11 alone gives the answer
A Correct answer i3 (el

12.  Let the price of a banana be Bs. x and that of an orange Hs. w
Lld4z+35r=84 = 2x+ Gyw=12 A

|].4x§1—511.'—!2 = x+Gy=12 D

Thus, even | and [1 tegether do not give the answer
o Dorrect answer 13 {d),
13. L Let the labelled price be M. x

(. D
CP = 60% of Bs. x = R"‘,”mu] . Rs.

I SP = 120% of Rs. x = }u'.Ln :E]- Rs. “Ef.

6z 3= A=
Fmﬁt_Rs.[ﬁ 5]_}23.5.
Thus:, even | and 11 together do not give the answer,
». Correct angwer is (d).
14. [ Total gaim = Rs. 1086,
M. C.P of each article = Re. 832,
IMl. S.F of sach articie = Rs. 766,
Let the number of articlez be x
15985

Then, To65x - 632x = 1506 = » = 5]

Thus, all I, Il and 111 are needed to get the answer.
Correct answer is (d),
15. Let the M.P be Rs. x

o0 Oy
B.o= 1 H'[ | = BR m—
LSP=0%o Bz x = hhrxtﬂﬂ)l RI{I
O If 5F = Rz x then gain = 30%
100 1 1z
C.PaBs | —xx]|= Hi —,
[lﬂﬂ' ! 13

IM. Gain = 20%.
Thus, I, 11, 11l do not give the answer
Correet answer is (el
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18. L Let the CP be Ra. =

/
Tnin.ll'l.l‘*.-li‘ﬂ%nrR&:-Ha.l:ﬂHx]-Ru.%.
‘8z BE 5lr
1L 5P = < 6z B8} _ o !
AS% of M.P. mLEme Re

E 50
— =4 = rw | 408 = ¥ = 40,
1] [ ElJ »

Thus, [ and 1l give the answer

ﬂl.whmﬂnmianndiumunhlhmﬂ.ﬂ-hl.ﬁ-ﬂa_ﬁ: |From I
Thus, II and I give the same answer,
& Correst answer 1a (b,
17.  Let the MP be Ra =
L CP = 85% of Re r = us.[rxﬂ]n Re. 175
10K a0
II. 3F = He 3060.
[ 100
mlmﬂff‘mﬂ I = Wﬁﬂxﬁ = J00.
i
N 17  k -
C.P REE = HR.[EVWD]-R&.JEE&

B0, goin = Ha. (3060 — 25500 = Rs. 510.
Thus all I, IT and III give the answer
Correct answer iz (d),
18. L Let the list price be Ha. x

- 85 | 19x
Then, 5.F - 86% of Rs, x = Ha[:hiE} Hs. o "

II. When 5P = Re. x and gain = 204%.

i Bx

Ther, CP =By [T ol a e 55,
g [mn o B
f‘mi“'[lﬂx 5-‘1=":':".I'__1:_|_5-|:|;' = E

20 &) | @0 60

!
Thus, | and 11 only give the answer,

Correct answer is (&)1
18. CP = Rs, 30, Let the rate of discount be ¥,
L 8P = 106% of Rs, 3000 = Rs. 3160
[x = 3150 1
II. Lot ML.F = Rs. x Than, : — =
i ix - BB% of 2000) 2
From I and I, discount = Rs. (3750 = 3150} = Ba. 600,

: Tx B "l
Gain% = ® 100 % = 14%.
{au Bx

== ¥z = ATHO

g LLH
D uni® = !"__ lDU]*F = 16%.
- | 3750

Thus, T and IT give the answor
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M MP = 125% of Ba 3000 = B 3750
From I and III, discount = (M.I?) = (8. ) = Rs. 600,
Thus, [hscount'® can be calculated.
Thus, [ and 117 give the answer
- i
From T and ITE, W et : imm-ﬂm(aﬁu 55:“3 ]-n:. aoD.

Thaus, [1 and [1l give the answer.

s Correct answer 15 (o),
L 8P = Ra. 12380, Gain = 23.5%.

20,
100 L]
) P.o= 12360 | = Ra. 10000,
C.P R"[Wﬂ.&“ J
II. M.F. = 130% of CP. = 130% of Ra. 10000 = Ras. 13000,
From 1 and 11, discount = Rs. (13000 = 12350} = Hs. &50.
5 G50
Discount® = []mumﬂ}i B%.
Thus, [ and [l gve the answer
ITI giwves CP. = Ks. 10000
S0, I1 and III give the answer
s Carrect answer is (e,
91, I Let CF be Re x Then, MP. = 130% of x = H‘IT?'

III. S.P = 9% of M.P
i . T 117=
= .| =——u—] = Ra. -
Thus, 1 and 111 give, SP. = Rs kmu“ 10 ) o0
117x 17z
i . 2y 4 gy i
- b [mu 1] 100
Thus, from [ and 111, gain% can be oblained.
Clearly, 1T is redundant.
s Correet answer ig (h),
22. IL CP = Es 1500

L Gain = 10.5%.
From [ and IT, we get

5.P. = 110.5% of C.P. = Ra. ['_L';{TE " lm] = Rs. 1857 50,

Discount = 15%.
M.P. = Rs. [%x 185750 | = Ra. 1950.
Thus, | and II give the mmuJaM go I iz redundsn.
M. M.P. = 130% of C.P.
10 :mun] = Rs. 1950,

From 11 and 111, we get : M.P. = Rs. {ﬁ
II and III give the answer and so | is redundant.

B, either 1 or 111 is redundant.



